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Part I Vocabulary and Structure (0 points)
Directions: There are 30 incomplete statements in this part. You are required to complete
each one by choosing the most appropriate word or expression from the four choices marked
A, B, C, and D, then mark the corresponding letter on the ANSWER SHEET.
1. Youwon'tgetaloan _ you can offer some security.
A. lest B. in case C. unless D. other than
2. Many children chose "Peppa Pig" astheir __ TV program.
A. favorable B. favorite C. preferred D. preferable
3. Few people know him, _ ?
A. do they B. don't they C. doesn’t few D. don't few
4. The opportunity ____ina prestigious corporation is a dream for the graduates nowadays in many countries.
A. working B. to work C. worked D. to be working
5. We thought of selling this old furniture, but we' ve decidedto ____it. It might be valuable.
A. holdonto B. keep up with C.turnto D. look after
6. The book has been translated into thirty languages since it on the market in 1973.
A. had come B. has come C. came D. comes
7. The Clarks haven't decided yet which hotel
A. to stay B. is to stay C. to stay at D. is for staying
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tomorrow, our ship will set sail for Macao.
A. Whatever the weather is like B. Whatever is the weather like

C. However is the weather like D. However the weather is like

before we leave tomorrow, we should invite all our friends to hold a party to welcome them.

A. Had they come back B. Were they coming back

C. Were they to come back D. Would they come back

. Susan came out in the speech contest.

A. the third B. three C. a third D. third

. My roommate didn't meet the deadline. I regretted
A. not to be able to help B. to be not able to help
C. being unable to help D. being not to be able to help
.After by the doctor, you are required to tum in the examination form.
A. examined B. having examined
C. to be examined D. being examined
fonly I my four years of college life.
A. didn't wasted B. shouldn't have wasted
C. haven't wasted D. hadn’t wasted
the opportunity to study abroad, | could not experience a quite different culture.
A. Dueto B. But for C.Asto D. Owing to
__willour life be like if robots control our life in the future?
A. What do you suppose B. What will you suppose

C. What you suppose D. What you would suppose

. Every boy and every girl __ that each day and each hour brings __ duty.
A. know; their B knows; its C. knows; their D. know; its
. When he was asked about the missing cell phone, theboy _ ever seeing it.
A. opposed B. denied C. objected D. refused
. His actionsarenot ___ his words
A.in relation to B.incontrastto  C. inregard to D. in line with

. He looks as if he nothing about the news.

A. knew B. would know C. would have known D. should know

. When the police broke into the house, they found the old man dead on the floor.



A. lain B. laid C. laying D. lying

21. Gilbert often attends on-line public lectures __ his horizon
A broadening B. to broaden
C. to have broadened D. to be broadened
22.1tisnogood ___ about the living conditions here. You should adapt yourself to the environment.
A. to complain B. for you to complain

C. for you to complaining D. complaining

23. The striking contrast of another culture provides a mirror one’s own culture is reflected.
A. on which B. in which
C. from which D. out of which

24, Asia is Europe.

A. larger four times than B. four times larger as

C. four times as large as D. as four times large as

25. The librarian said you return this book to the library by the end of this week.
A. might B. would C. dare D. must
26 for two years, the bike needs

A. Using ;repairing B. Being used; being repaired

C. Having been used; repairing D. Having used;to be repaired

27. The question he asked was the electrical equipment should be stored.

A. what B. which C where D. because

28. My eyes are getting tired. | for two hours. | think 1" Il take a rest.

A. have read B. have been reading

C. read D. would have read bars

29. Polar explorers have to be extremely to endure the climate and other hardships.

A. hard B. rough C. tough D. fierce

30. As she matured as an artist, she realize that"all artists are a product of their culture".

A. kept to B. came to C. took to D. went to

Part 11 Reading Comprehension (40 points)
Directions: There are 4 passages in this part. Each passage is followed by some questions or incom

-plete statements. For each of them there are four choices marked A, B, C, and D. You should deci

de on the best choice and then mark the corresponding letter on the ANSWEAR SHEET.

Passage One

Participation in classroom is not only accepted but also expected of the students in many courses. Some
professors base part of the final grade on the students' oral participation. Although there are formal lectures during
which the student has a passive role (i.e. listening and taking notes), many courses are organized around classroom
discussions, student questions, and informal lectures. In graduate seminars the professor has a "managerial” role
and the students make presentations and lead discussions. The students do the actual teaching in these seminars.

A professor's teaching style is another factor that determines the degree and type of student participation.
Some professors prefer to control discussion while others prefer to guide the class without dominating it. Many
professors encourage students to question and challenge their ideas; students who make assertions that contradict
the professor's point of view should be prepared to supply evidence to their positions.

In the teaching of science and mathematics, the dominant mode of instruction is generally traditional, with
teachers presenting formal lectures and students taking notes. However, new educational trends have emerged in
the humanities and social sciences in the past two decades. Students in education, sociology, and psychology
classes, for example, are often required to solve problems in groups, design projects, make presentations, and
examine case studies. Since some college or university courses are "applied” rather than theoretical, they stress

"doing" and involvement.

31. Participation in the classroom is not only accepted but also expected of the students in many courses except

in

A. seminar courses
B. the humanities and social sciences
C. informal lecture courses
D. science and mathematics
32.Education in the humanities and social sciences has_
A. not changed much
B. changed from being theoretical to being applied
C. changed a little
D. become more theoretical than applied
33.1t can be inferred from the passage that

A.an active participant in a seminar is a good student
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B. a student who can always take full notes is a good one
C. a student who can dominate the class is a good one
D. a student who keeps silent in the classroom is a good one
34.The reason why some professors ask students to make presentations and lead discussions is
A. these professors are not willing to teach the theory
B. these professors are often not well prepared before class
C. these professors want to stress "doing"
D. these professors want to test the students' abilities
35.Which of the following is true?
A. Student participation is not common in the classroom in many courses like sociology.
B. Some professors want to dominate the classroom discussion.
C. Some professors usually want the students to participate in the teaching of science and mathematics.
D. New educational trends have emerged in the teaching of natural sciences such as

chemistry.

Passage Two
A blizzard is a severe weather condition characterized by low temperatures and strong winds, greater than 35
miles per hour, bearing a great amount of snow.

Because the factors for classifying winter storms are complex, there are many definitions of what a blizzard
truly is. But it is generally agreed that in order to be classified as a blizzard, as opposed to merely a winter storm,
the weather must meet several conditions. The storm must decrease visibility to a quarter of a mile for three hours
running, include snow or ice as precipitation(¥K%), and have wind speeds of at least 32 miles per hour, which
means force seven or more on the wind scale.

Another standard, according to Environment Canada is that the winter storm must have winds of 40
kilometers per hour or more, plenty of snow, visibility less than one kilometer, a temperature of less than minus 25
degrees Celsius, and all of these conditions must last for four hours or more, before the storm can properly be
called a blizzard.

When all of these conditions continue after snow has stopped falling, the storm is referred to as a ground
blizzard. An extreme form of blizzard is a whiteout. when the downdrafts, together with snowfall, become so
severe that it is impossible to distinguish the ground from the air. People caught in a whiteout can quickly become
disoriented, losing their sense of up and down as well as their sense of direction. Severe blizzards can also occur

along with arctic cyclones.

36. What's the passage mainly about?
A. The definitions of blizzards.
B. The disasters caused by blizzards.
C. The amount of snow brought by blizzards.
D. The strong winds caused by blizzards.
37. Which of the following is true of a blizzard according to the first standard?
A. One can't see anything beyond a mile.
B. One can’t see anything beyond a quarter of a mile.
C. The wind blows at a speed of 25 miles per hour.
D. The wind blows at a speed of 23 miles per hour.
38. Which of the following is true of a blizzard according to the second standard?
A. Visibility is decreased to 2 kilometers
B. Visibility is decreased to 1. 5 kilometers
C. The wind blows at a speed of 40 miles per hour.
D. The wind blows at a speed of 32 miles per hour.
39. What is a ground blizzard?
A.Ablizzard blowing over a piece of land.
B. A blizzard hitting a plain.
C. When the snow has stopped falling, the visibility increases and wind force decreases
D. When the snow has stopped falling, the visibility and wind remain.
40. Which of the following is the correct order of increasing force?
A. Winter storm--whiteout--blizzard. B. Whiteout--winter storm--blizzard

C. Winter storm--blizzard--whiteout. D. Blizzard--winter storm-whiteout

Passage Three
You are here to see Bill Gates, the Chairman and Chief Software Architect of Microsoft Corporation. As you
know, Microsoft is the worldwide leader in software services and Internet technology for personal and business
computing. Last year' s revenues topped $32 billion, and the company employed 55, 000 people in 85 countries.
And Mr. Gates is an iconic figure in contemporary computing.
While attending Harvard. Bill Gates and his childhood friend Paul Allen started Microsoft, and launched a

revolution. The fledgling(MIJF4511]) company was more interesting than the classroom for Bill Gates, so he



dropped out in his junior year. In his case, it was clearly a great decision. He not only built a company, but more
importantly he built a vision. Both were built on the idea that the computer would be a valuable tool on every
office desk and in every home, and that software was the key. The penetration of personal computing in our
businesses, our offices, our public libraries, on the train or on the plane, and in our home is astonishing, and truly
reflects the Bill Gates' view that if the software is right, they will come.

Bill Gates also is an author of two books. One of them, Business at the Speed of Thought, is available in 60
nations and 25 languages. It shows how computer technology can solve business problems in fundamentally new
ways. By the way, the proceeds of both books are given to nonprofits that support the use of technology in
education and skill development.

He's an avid reader, a golfer, and a bridge player. He is a household name, a visionary, a philanthropist (&%

%), and tonight he is our guest. So please join me in giving an Illinois welcome to William H. Bill Gates.

41. What does the author mean when he refers to Mr. Gates as an iconic figure?

A. Mr. Gates is a famous person having a lot of money

B. Mr. Gates is a famous person representing a way of life

C. Mr. Gates is a famous person developing a lot of software

D. Mr. Gates is a famous person working in computer industry
42. Why did Bill Gates drop out of school?

A. Because there was a revolution

B. Because he had earned $32 million

C. Because he had already built a vision

D. Because school wasn't as interesting as his work
43. According to paragraph 2, which of the following is most important for the development of computers?

A. Bill Gates dropping out of school. B. The penetration of personal computing
C. Bill Gates fledgling company D. the software
44, We can infer from paragraph 3that .

A. Bill Gates made a lot of money from the two books

B. Bill Gates used up all the money from the two books

C. Bill Gates donated the money from the two books to his company

D. Bill Gates made no profits from the two books

45. According to the last paragraph, Bill Gates is expected to next.

A. give a talk
B. hold a meeting
C. attend a business meeting

D. meet his colleagues

Passage Four

As technology transcends national boundaries and demystifies(fi# 8 1) cultures, and the speed of flight
transcends the speed of sound, it's time for us to reflect upon whether or not our students are prepared to meet the
challenges of the information age. Are we losing sight of what our task is to prepare our youngsters to become
effective contributors to society?

Today's children must be prepared with the knowledge and experience to be able to select, retrieve(f %) and
synthesize(# F%) information from traditional and nontraditional sources, and apply it locally and transnationally.
Our children need to experience learning in a cooperative, inquiry-based environment so that they develop from a
state of dependency through independence to interdependency. They need to read very eagerly in a variety of
contexts, and apply mathematical and scientific concepts to real life situations within and between disciplines to
solve anticipated and unpredictable problems. To make them citizens of the world, they need to learn a second
language starting in kindergarten, so that they can communicate effectively in an international marketplace. They
need technological expertise and familiarity with computers to use them in the classroom and beyond. They must
nurture, and we must support their desire to become lifelong learners.

Can these objectives be realized? Certainly. We must “reteach in order that we may teach”.

46. The author thinks today's education .
A. doesn’t perform its task well B. has to give challenges to the students
C. reflects upon the students' challenges D. has transcended national boundaries
47. The underlined word “it” in paragraph2 refers to the .
A. knowledge B. experience
C. information D. interdependency
48. The purpose of a cooperative, inquiry-based learning is to nurture students’
A. independence B. dependence
C. desire to learn life-long D. interdependency
49. Students of our information age should be ableto

A. select, retrieve and synthesize information
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B. apply information locally and international
C. apply scientific knowledge to solve anticipated and unpredictable problems
D. all of the above
50. This passage isa_____.
A. description of the condition of today's education
B. discussion about what today's students should be able to do
C. call for educational reform

D. list of actions we have to take in teaching

Part 111 Cloze (20 points)

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked A, B, C,
and D. You should choose the ONE that best fits into the passage and mark the corresponding letter on the
ANSWER SHEET.

Though some people have suggested that women should return to housework in order to leave_51 Jobs for
men, the idea has been rejected by both women and men in public 52 polls.

Lately some union officials have suggested that too many women are employed in types of work more_53 for
men and that women should step aside to make 54 for unemployed young men. They argue that women, especially
women in their childbearing years, 55 delay economic development and result 56 lower productivity, poor quality
and inefficiency.

To solve the problem, they suggest that working women stay at home_57 their husbands or brothers were
given double wages. They argue that 58 these circumstances, families would_59 their same level of income, and
women could run the house and 60 children much better.

The suggestion, 61, has been flatly rejected by 9 out of 10 people 62.

Some other people have suggested another way 63 "phased employment" theory. The theory suggests that a
woman worker take_64 from her job when she is seven months pregnant and stay off the job_65 her baby reaches
the age of 3. It suggests that women_66 leave receive seventy-five percent of their_67 salary and be allowed to
return to work after the three-year period. This will_68 children, women, their families and the society and it 69 to

be more acceptable than the suggestion 70 women return to their homes forever.

51.A. more B. few C much D. less

52.A. attitude B. reaction C.idea D. opinion

53.A. available B. suitable C. reliable D. practical
54.A. course B. route C. way D. road

55.A. strangely B. unusually C. approximately D. actual
56.A. with B.in C. from D.on

57.A. though B. while C. since D. until

58.A. under B. for C. with D.on

59.A. remain B. supply C. support D. receive
60.A. grow B. bring C. raise D. feed

61.A. therefore B. moreover C. however D. thus

62.A. polling B.to poll C.to be polled D. polled
63.A. called B. calling C. tocall D. to be called
64.A. holiday B. rest C. leave D. vacation
65.A. when B. until C. after D. while
66.A.in B. for C.on D. with

67.A. common B. ordinary C. normal D. real

68.A. profit B. interest C. serve D. benefit
69.A. finally B. definitely C. Doubtful D. fashionably
70.A that B which C. these D. those

Part IV Error Detection (10 points)
Directions: There are 10 sentences. Each of the following sentences has four underlined parts marked A, B, ¢, and
D. You are required to identify the one that is incorrect, and then write the corresponding letter on the ANSWER
SHEET.
71. No only did they brought snacks and drinks, but they also brought cards for entertainment.
A B C D
72. Today, people are spending twice as many on entertainment as they did in the past.
A B C D

73. Entering the yard, found it covered with lots of falling leaves.

A B C D
74. There are two rooms in the beach house, the small of which serves as a kitchen.

A B C D



75. Many wants to buy that kind of cloth because she has been told that the cloth is washed very well.
A B C D
76. Some friends tried to settle the guarrel of the new couple without hurting the feeling of neither.
A B C D
77. The old farmer lives in a lonely village far from the town. He lives lonely, but he doesn't feel lonely.
A B C D

78. How can you learn anything while you spend all your spare time playing computer games?

A B C D
79. In some_cases, different approaches for the same scientific problem lead to conflicting results.
A B C D

80. People who have had a bad experience are usually more careful the second time.

A B C D

Part V. Translation (20 points)

Section A

Directions: Translate the following sentences into Chinese and write your answer on the

ANWSER SHEET.

81. Football is the most popular sport around the world. People participating in the game can not only keep fit, but
also make friends and gain great enjoyment. However, it may result in bloodshed from time to time due to its

fierce nature; yet this cannot weaken the charm of football.

82. The booming of Confucius Institutes in many countries shows there is a constant rise of the worldwide fervor
in learning Chinese. China's rich culture and blossoming economy are driving their interest to learn the
language. The Confucius Institutes have not only offered a place for foreigners to learn Chinese, but also

serves as a platform to help people understand each other.

Section B

Directions: Translate the following sentences into English and write your answer on the
ANWSER SHEET.
83 AR IR B FHUARE I —HE, IR A

i

B4 X EAR M, BR T EIELASL, IR N

C

85. {1 A LA B2 A A HE D AL LA TR %0 T

86. % IR MR, ANELGARM STE Y MIAEIR O E, IR .

BT.JAAETA 175 E TR, (EHAE O IR A B AV BAF BT S S

Part VI Writing (20 points)
Directions: For this part, you're required to write a composition entitled How Should College Students Manage

Their Time? Please write it on the ANSWER SHEET with at least 150 words
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[#EdTImight: vl g, WVF, @ LR would R, HARH kR £ M H NS, dare: i BT
must: L2, —E . RIEF)E R FIE D.

26.C

B NETECEHTHET, KTEB—TFT,

[% s ]R3

D] RIEA A, SB— A2 R IE 0 i 58 X, RORa/EAEIR 218 Pt R 8l E 2 5T 4R « bike
Fl use Z [F) 2@ 48 LN IR R, B LAS B ShEA R “THEY,......7. % A need to be done &4 need doing,
T LSS — A5 N4H repiring X to be repaired. #i% C.

27.C
[RHIE] A i) F) 1) R 3K & R B8 I AZ A At 7 7E IR FEL
[5 R A

LT o34 £ G5 mTJ, 2 AR 5] 5 — AN RIE A, A) kbt gOIRE F)o Bt AR I wheres itize
C.

28.B

[RF] FOTIRRBIIRE R 7. ROEKE TN T . RERERE —T.

[%5 =] 8hiA i 25

UdT] MRAE AT A, “FITIRIEBIIREE R TR FOVROAHE TIN5, Bt DL AR N TELAE 58 A
AT, ORIt I — I IR SE S B BAE B0 1. ik B.

29.C
(R P DA MRS ST 106 2K Tl REWZ 5 4 2 32 IS HEL P =M AR G A PR e o
EFNERE 2T

[fHT] hard: A& 1), "R K rough:¥LREMT, ANHIVINT: tough:misR I, BENZTETNT7IK); fierce: ShZIMI, BREIM.
IRAE A=A, i% Co

30.B

[FHE] 2t 58 4 BN — 2 2RI, WA TH R = IR BT A 1 2R KA AT S 777

[55 s ]iA i HE T

[###7T] come to realize M E AR, BN IR INE, Keep to:'BHF, W5F; take to:fF LM, =X s go
to: R, SRR A, EONCRIEM. WUk B.

Part II Reading Comprehension (2x20=40 points

31D

[T 1SS am T . HRAE 26 — Bt 58 — %" In the teaching of science and mathematics. .. with teachers presenting
formal lectures. And students taking notes." 7] 1, H AR F# A RS2 RN 2, WHRZIMVIR, S
AL G A =0 HFE AR RE S 5. #iE D,

32.B

(BT S48, R4 55 = BU 2R —f)“However, new educational trends have emerged in the humanities and
social sciences in the past two decades.” i J5 —#]“Since some college or university courses are ‘applied’ rather
than theoretical..” I &1, ASCAHEBIEMERAEECA I BN Sy, — LUK 22 T 0 TR S =5 A S i
maEE . ok B.

33.A

[AFERT 1 HEEEE S BT A, AR 45 2 — B 2 —f1)“Some professors base part of the final grade on the students’oral
participation.” AJ I, “FAAEIRE EIZ 5 R SHAT N BRSO, PRERIERAR, R0 Bolidks,
JreA A TRIESf, B T D TR R SO I RA R B — A Re s IS IR E 2 R ot — N AR, C IR . K
% A

34.C

[AAEATT S S 415 A, ARl S 2 ¢ J 9 FJ“Students.. are often required to solve problems in groups, design projects,
make presentations.. Since some college or university courses...stress ‘doing’ and involvement.” wJ %1, —4E#i%
Z T CAESR S AR A R A E R R RO B s, RISE s M= 5. Huk C.

35.B

Sip —

[ARAT ) HEEE S b . AR 55 i — B = A1) “Students in education, sociology, and psychology classes...are often

b3

required to solve problems in groups....”, )i —B % —%)“In the teaching of science and mathematics....with

teachers presenting formal lectures and students taking notes.” VA M i J5 — Bt 5 —#]“...new educational trends
have emerged in the humanities and social sciences.....” ] &1, #E2x22E 222 5 AR S 52K, 1ME
IRBF A A REC A F RN IR BOF T RAL G HUA R, BIZIMYER, A g, ASomtasl
PP RMEIT AR SR E BY, FTUA.CD=BUSE R, LB,

36.A

[fdT] 3 B R, SR —h) e Hi“A blizzard is a severe...” Bl B X E I E L. FXHE AT T HE
BNEF A FEFRE, Ba—BNE TG T RRRE . ST, CEEEPHE 72T HE L.
37.B

(AR FRE 2 R DT A . FR i 58 — B 58 —F)*“The storm must decrease visibility to a quarter of a mile...and have wind
speeds of at least 32 miles per hour.....” "] &I, MHEHE —MhbritE, KRR L KR CIRILEFEBE W L ATE
F)0.25 3B, RUEM#EE/DA S 32 3L H ik B,

38.C

[N HERE ST R . MR H 28 = B 58 —%)*.. .must lhave winds of 40 kilbometers per hour or more.....visibility less
than one kilometer....” A &1, AR3EEE ZRbRiE, 2 XEH R L R CROLEFRRE BN T — A B, KA |
409 HLARg/N . #iUEC.

39.D



(BRI ) S ST 8 o AR B 5 — B 36 —F)“When all of these conditions continue after snow has stoped falling, the
storm is referteal to as a ground blizzard. "] A1, [FFI1F 1HfE R RACIRGUAKIRARBET, LIS IR 58 XU w2 th
&M% (ground blizzard) . #i%k D.

40.C

[ T T A 2804 i A
storm, the weather must meet several conditions.” fl#x fg— Bt 28 —f)“An extreme form of blizzard is a
whiteout“R] fl, =3 A /N EIRAK R winter storm, blizzard, whiteout, #{i%C.

41.D

(A7 AT 1HHE S I BT o AR SC 2 28 — BEW i A =] A 48 DL S A B B J5 —%1)“And Mr. Gates is an iconic figure in
contemporary computing R A1, HIR 5 KA THRENAT R PR EMEAY) . #ukD.

42.D

FR A 26 — Bt 58 —H)“...in order to be classified as a blizzard, as opposed to merely a winter

(AT S s gn =i, M4 26 — Bt 88 —H)“The fledgling company was more interesting than the classroom for Bill
Gates, so he dropped out in his junior year.” ] &1, FC/R 75 9% It DR 57 & BN AR 50 A5 AN I AR B i
%D

43.D

[T ) TR 00 0 MR 55 — B35 A1), . .the computer would be a valuable tool an every office desk and in
every home, and that software was the key.” 7] &1, XvHENLAR kU 2 R EE L F. HukD
44.D

[T FERE 0 b A . AR ¥ 58 — Bt i J5 — %) . . .the proceeds of both books are given to nonprofits that
use of technology in education and skill development.” ] %1, /R 36 KX P A B I 45 Fa 45 T HEE R4
2, MRS BB MBI AEREIT &, BT LM I A WX A h3RA . #ukD.

45.A

[fFEpT] HEERIW S, AR SCFE S —F)“you are here to see Bill Gates...” L K fefi—%J“So please join me in
giving an Illinois welcome to William H. Bill Gates.” 7] A1, A& —RWGREFEE, H 215 H /R 2O
. WUEA.

46.A

LA AT T4 L F1 D 50
prepared.... A HERT, A4 HIBE AR UAEAE B 2 AEATRO0 S A B RE ki, BII N4 K E 1195 58
FRITIEANE LT o HEA.

47.C

support the

RS — B8 —f)“.it’s time for us to reflect upon whether or not our students are

[AAAT HEFE I A . AR ¥E 25 B 3B —4J«. . .select, retrieve and synthesize information from traditional and
nontraditional sources, and apply it locally and transnationally.” ] %1, it 58X /2 information (5 8.) . #i% C.
48.D

[T 1S s gn . M4 26 — Bt 38 —H)“Our children need to... so that they develop from a state of dependency
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through independence to interdependency.” RJ A1, FETER Tt B A AE S 2T 1 H I 55 77 5% 48 2 8] B AH BRI
HU%ED

49.D

[ AT ] = S 4 7

information from traditional and nontraditional sources, and apply it locally and transnationally.” Fl 2 =

PGS B 5 —%)“Today’s children must... be able to select, retrieve and synthesize

#):...apply mathematical and scientific concepts to real life situations within and between disciplines to solve
anticipated and unpredictable problems.” 7] %1, A.B.C=Ii#41EM, #iED.

50.B

[t ]2 8 K, JE 4 SRR 4 SCF 55 —H)“.it’s time for us to reflect upon whether or not ...” DA S 25 —

2966

Bth“Today’s children must be prepared ... ...” “They need to read very
eagerly...”*...they need to learn a second language...” "] &, SCFE FEHHS T HLE R 2248 ROZ W 1557 5 S e

S35 BLIER FB A SIS SIAC, O 2 Rt 2 R ABkAR . #kB.

our children need to experience

Part III Cloze (1%x20=20 points)
5LA [ Z A

DR e ml s, — S8 N L Sz B E K BE, DAESS 55 AR T E 2 1 TRV, BT PARL%
manyf] Lb 3 Zimore. HUEA.
52.D [ )i T4 T

[f##T]opinion-pol N[ & 4618, MoA“RBMIEE”. atitude; A, Hik: reaction: /e[y idea; A8k,
FE. #ED.
53.B [ s ]iA XH AT

[f#t]available:F] F i, WISRASHT: suitable; &A1), &EHEAY: reliable: rJ{E4iH, FIHEA; practicl:
SEERIT, SERRET. MR A) S RS 52 5 B “women should step aside”RJ %1, K204 fEHIEH B K AL
TAE. Hi%EB.

54.C [ il iE A iR
[fi#Hr Imake way for A& 515, AON9ER, M. FFi%”, WukC.
55.D [ ri]iA] L AT

[fEtr]stangely: @& Hh, Aol BCHY; usually: AT H; approximately: K2y, #rfBld; actually: SEBr
b, FsE BRI IR SE S S0 They argue that women,especially women in tbeir childbearing years...” 7] %1,
AL NV AL A L2 TAESEbr Bt RATERIRE, #D.
56.B [ mi]ial 1A AL

[fEtrIresult in: 22, 4552 result from:iE KT, JERZ. —FHH R T BE&IE. R 5305,
A LS I TR SBOED R &, FRKREMRE, & T4R. kB,
57.B [ s ] TR

ER)

¥ g =

i




w4

F2
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N

7 <

57

E2)

Q &

[#HT]though: 4R, R4, 5l FilBARA): whiletBER, SR, ... HIEHE, W51 ik ARk
BMA]; sincerl T, H...... DAk, A 5] 5 i DR RN ()R M) o I A 26 1) << ke il R P i mT DA &
PEAER MK S, MBEERE L, BT WA ZEBX . #ikB.

58.A [ ]G I

[f##]under these circumstances & [ /& FH 1%, BOA“TEX LB R BUEA.
59.A [ m]iA SLHE AT

AT Iremain: fR%; supply:fit4y, fHLR7; support:>ZRF, S23%; receive; IXE|, 193,
gha BRSO AL bRk remain, U CORERARATE S RN K. HOEA.
60.C [ ri] il SLHHHT L o

[EdT grow: i, KK bring:aii ok, FK; raise:dh#:, 77 H, M2 Tbring up; feed:"E5%, 137, raise
children N[ E#HC, BNDFREZT. #HiLC.
61.C [ i Lt

[t therefore:[XIt, Frbh, Fongs5%: moreover:ifj H., Bb4h, Forididk; howeverfR i, A, 3
AT thus! RIEROR S IR . G55 R0, AT AR I R4, HukC.

62.D [ miEELE I

[EAT AR 2 A B 1E SR I 1. PollXs ... 3T IE LG . 25 A ¥ 9out of 10 peoplefR iH i J& T #%
ISR G, UL B EED, 588K IEN“9out of 10people who were polled”, AN T who were.
%D,

63.A [ R ]IEIREE

[ff AT 1A 25 25 AE VS 15 3 1) 1) FH 74 - Called: 8 FRAE - b AL 52 #3218 y“another way which is called‘phased
employment’ theory”, [ fiJ-H44HE [ which is. #UEA.
64.C [ mi]iAl B AL A

[f#tr]holicday: B3, 5 H, Stakef&HC i ¥ % 15 M Aytake a holiday =itake holidays;rest: 115, 7%
P, StakefAHCHT (1) 5H 15 B take a rest, leave: B3, R, take leave Ml e ki, &< s vacation:f
1, M, Stake FARCITHIRETE Y take a vacation,#fikC.

65.B [ 1A X

[f#Hr]when:7E...... s ountib B3 I after:fe........ 2 J&s while2AT, ... o &4 BFsen]
A, ARAERyuntil, Lot AT AR RS AR B AL BRI A 138 . AR )R AT A, 1B
66.C [ mi]inliE A4 A

[##T] on leave y [ e K1, BN, TEMREH. #ukC.

67.C [ ] SLHH AT

[f#Hrlcommon:E 3@ (1), UL ordinary: 3@ 1, ¥ FLE; nomal:IEH 1, ARAEMT: real:SEPRri, H
SZff). normal salary: 1E % T8, FF&t)m. #ugc.

68.D [ rilif] XHHfr it
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[T profit 3R A, A 25, & Sfrom&E, FoR“M.. FIRF"; interest:fdi..... JEOLER, FlE.. IO,
serve: Ay..... k% benefitfGaiT, Xt.....FH 2, benefit sh.E Xt NFH A", #HUED.
69. B [ ri]iAl LHHHT

(AT Ifinally: e J5, 2T defintely:4%8, HEHh; doubtfullyPREEHL, S #ih; fashionly: i &2 .
MR 25 4L 1T — %) This will benefit children,women,their families and the society...” "1 %11, %I % 7. &tk
AT KA 7ikl, TSRz . WukB.
70. A [ REASH

[T ARG % A [FALTE Ao [ 1H A T RRE U0 I i 2 al I BAR N 2%, T8 tithat 515,

that HEIEIER, EMFHAR U F 5. AH)HH 7 5 “women return to their homes forever.” FH T-fif B
Ui “suggestion” BAR N 25 . HUEA.

Part IV Error Correction (20 points)

71 [RRE] AT AT T/ Ao}, 3B T R RIS IE R 4R
[fi#4T] BR.MCAbring. AH)2% #not only....but also..... (1) FHi%. notonly FHT-HJES, )5 R3]
BORINGRTE A, B R S A5 5816 . bes im S 52 /T, 5 FH BN 5 E .

72 [BIPE] 04, NAMEAEARNER SR B3 R W2 £
[#ERT] BRZESCAMuch . AN 25 (5 B ik idc. St rh i F R Hitras+ 1 25 i B 18] JR L +as™ SRR IR 4
many HRAZ M AT 244 18], much FHRAB AN T #4438 . A) BG4 S < e A A n Bk ], B
Himuch.

73 [FRE] R T, ARIE B SE V2 2 MEH .
[##H7] DN Mfallen. Fallen leaves: 36, [ & FHVZ:.

74. [BIVE] HREAELEAAPIE BT, D R AN S
[ffd] CRigk Aysmaller. A RE BT SR EL e S . ARAEA) =, P8 2 [A)0/Ds f  E F Eb 3 Zesmaller

75. [BHPE] FHUALSEARARATRY, R DAt Ui 4 AR A AT AR 4
[ # 7] DRk 2y washes o A A F E WA E S . FEFE P, K& LW iE w
read,write,wash,clean,cook,bake,burn,draw,open,cut,sell, killZF, Swell easily,smootlyZ5 & 7E I, HT4
SEAWSNE M EHESES, MAHEENES (EEEE YD  FHMNECywashes.

76. [BIPE] SR BN F IS RIS LY, ST AT 8 b,
[f#HT] DM.CHboth. A5 A AR 1] [ % . neither $R& AN, both$g ¥ & #. R4 AR, N neither
B hboth.

77. [BPE] AR AR AR ) — MR A o AN ARV, EIEAN AR,
[##T] CRiSCvalone. alone™] DIETEA 1], =y« JUERLE, ARlEEtE, MEGEHMmE—
N, WHBTEFEE, BAREOR, REREUHRE; alonelt ] LUERIE, =oy“sipl, JE”.
lonely = Ayl ), Fom T RSN ZE, A BRI R, RIS R AEm 7= A 1 —Fh A5
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78. [BHIE] RS NS TR ATIRR, B4R RIAR e ?
[f#47T] ARLSCsomething. anything F-T—iBE i) ) 5 75 5 0, something s T 5 f1) BB R SE 1]
fJH . PRI BCh something

79. [BRE] ALEHENL T, [F—REE R A F AR R T E S S BUE P JE AR
[f##T] BR.MUAto. approach: /73, 77¥k, &%, JEHERIMAto, For“.. HIRERITIE .

80. [MHPE] A RIEEL P 1 N8 8 38 — IR /O
[AEHT] ARLSCANad. AN A i I 25 . — i 23 R R 26 FE AN g I (8] B — BRI ) R AR B 2
RS o« BRAE T8 i it 26 R A B AR BRI 0 BLAE AT A s ma ™ AR SR 45 L . who 51 3 ¥ e 15 A1)
FoRRE ZRAER—AEE, MH oL EN .

Part V Translation (20 points)

81. [MFF] R e it AR TIZS) . SIMXBUSE AT B IR S AR R, LRSS AL
PRI . SR, T HEGRRE, EF RS /R SEBURME. (HIXIFARENR S A2 KA
VAR
[EAT] AN F)5 & fe i 2 DA S — B8 JH B 1175 . not only.....but also.... /MY ...... mHA....... AL
it......result in:$ % AJparticipating in the gamefF 5 & &1, &1 people.

82. [HIPE] fL T ARV 2 [ X AR IgUA F 3% B HH F3 Bl oo o 23 DU BB ST o o A2 0 SO AN
BORMATIRG F AT IDE . LT 2RO E NS 22 S PUERI T, MR — B AT
T IEREIEIT &
[###7] booming&boom 18 &AL, BB, WK fE”; a constant rise of the fervor: #IE R4 Tt
s platform: P& . A4k, BEREAR] R 1R

83. [##1%] | soon realize the phone is just like a cigarette,which is hard to cut out.
[AERT] A )25 2 Sl A FHAR BRI 8 38 ) BOIRVE . <R — B Hjust like.... 2% “IR XERGH
FEARGIP R TAN R YOI N 2, BRI, N AR BRI E 15 ANE) s <ol T et out.

84. [#¥1F] This suit is very satisfying except for its color.
DRI A 5 2% 2] (1 V% B S AR IR R R R T-H8 70 5 AR I SC &R, it LB 11 Fl except fordkor,
i 0f b LA BUREAT BAR RO AT U7 T B I, FE AT B A4 ] B o < NIRRT IR
satisfying.

85. [##1%] Nothing can give teachers more pleasure than to see the progress of their students.
[ AT 1A )5 & F B AR RO A e 2 2 SRRk “Pi A L. B (] 7 7] Finothing..than
G5 o

86. [#¥1%] The police warn passengers not to leave money and valuables in their bags in case they are stolen.

[EFT T HREE RN OR) 2> % Fflwam sb. (not) to do sth.3kE7r: “LLBG......”
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W Fin case R &R o
87.[#1%] | don't care if they disapprove of my plan, but deep in my heart | still yearn for their support.
[N, .....” % Fldisapprove of K3KiA; “WLIRAL"1F Adeep in one's heart; “VEHE......”H P& yearn

Part VI Writing (20 points)
How Should College Students Manage Their Time?

As the saying "Time is money" goes, time is such a thing of great importance. A man who can't manage his
time may waste more time, more money, more energy but gain less, and may miss something vital. Finally his life
would be in a mess.

There are some feasible methods for time management. Firstly, design schedule, which avoids playing
through life and having no ambition. Secondly, persist in your principle. The dormitory life makes up an important
part of college life, but many students spare time to talk with their roommates, so the key to saving the time is
keeping your principle. Thirdly, study efficiently. As college students, now you don't have much pressure on
studying but still ought to finish your courses. Too much programs on campus always make you restless to learn,
however, you can make best use of time to avoid that.

In a word, time is so significant that each college student should learn how to manage their time. Only in this

way can they enjoy a meaningful college life.
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Part I Vocabulary and Structure (0 points)
Directions: There are 30 incomplete statements in this part. You are required to complete
each one by choosing the most appropriate word or expression from the four choices marked

A, B, C, and D, then mark the corresponding letter on the ANSWER SHEET.

1. Mary made sharp comments on Johns opinion, but she didn’t mean him.
A. hurting B. to hurt C. Hurt D. to be hurt
2. As you are so concerned about the issue, you should make your views to other

committee members.

A. being known B. known C. knowing D. know
3. In the second semester, Alexander asked his teacher

A. what courses he should take B. what courses should he take
C. he should take what course D. should he take what courses
4.—Have you ever played bridge?

—VYes.We___ on weekends when | was in college.

A. should have played B. would have played
C. used to play D. had played
5. The start of a new year is a good timeto ___the problems of the past one.

A. draw a point of B. reflect on
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C. result from

D. forget about

6. is always the case, the girl has won first prize in the English contest.

A As B. That
7. 1 would just as soon he

A. told B. had told

8. | was about to lock the door when it occurred

A. at; left

9. Since she is so worried, we her the truth.

A. might as well tell
C. would rather tell
10. We all know theevil __

A. result B. effect

11. Stopping pouring dirty water into the river is

A. That B. what

B. in; forgotten

of drinking alcohol.

C. outcome

C. What D. It

the news to me yesterday.

C. would tell D. tell
me that | had my key in the room.
C. to; put D.to; left
B. had better told

D. should have told

D. consequence
the factory has to solve at present.

C. Which D. why

12. 1 hope you all the factors before you reach the final decision.

A. considered
C. will have considered

13. Thank goodness that’ s over! I

itifl

B. will be considering
D. would have considered

it was going to take me so long.

A would never have done; had known

C. would never have done; knew

B. would never do; knew

D. would never do; had known

14.Stephen my letter; otherwise he would have replied before now.

A. ought to have received

C. couldn't have received

15. It is always easier to make plans than to

A. put B. carry

16. We will not succeed in studying English

A.if B. unless
17. Sam could not

A. afford B. effort

18. Whenever our motherland needs me, | will

A. respond in B. respond

B. has received

D. shouldn't have received

them out.
C. take D. practice
_____we study hard.
C. until D. for

the camera he longed for because it was too expensive.

C. effect D. forward

her call.

C. respond at D. respond to



19.As far as the method itself it is worth trying.

A. concerns B.is concerning C.is concerned D. concerning
20. Sheresignedand __ to one of her younger colleagues.

A. handed over B. handed to C. handed in D. handed by
21.Thecareto __ elderly had become _ hot topic in the present society.

A. the;/ B. a; the C./; the D. the; a
22. It's not easy to keep in touch friends when they are far away.

A. for B. with C.to D.at
23. Although he isn’t rich himself, Uncle Tom never hesitates to help others__

A. for need B.to need C.in deed D.in need
24, the world we live in has changed a great deal in the last hundred years.

A. Whether we had liked it B. Whether or not we had liked it

C. Whether we like it or not D. If or not we had liked

25.The key to our room is attached a large plastic block with the room number on it.

A.to B. at C. of D. for

26.You’d better at the bank near the university.
A. Have opened a savings account B. have opened an account savings
C. Open an account savings D. open a savings account

27. They helped us many times, very kind of them.

A, who were B. which were C. that was D. which was
28. Tomand|____ friendssincewe ____ children.

A, are; were B were; have been

C. have been; are D. have been; were
29. Itis extremely urgent thatthey  from the destroyed building before dark.

A. must rescue B. be rescued

C. will be rescued D. shall be rescued
30. He showed me a notebook, _ | could tell that it was pretty old.

A. of which cover B. the cover of which

C. whose cover D. from the cover of which

Part 11 Reading Comprehension (40 points)
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Directions: There are 4 passages in this part. Each passage is followed by some questions or incom
plete statements. For each of them there are four choices marked A, B, C, and D. You should deci

de on the best choice and then mark the corresponding letter on the ANSWEAR SHEET.

Passage One

In many American universities, the total work for a degree consists of thirty-six courses each lasting for one
semester. A typical course consists of three classes per week for fifteen weeks. While attending a university, a
student will probably attend four or five courses during each semester Normally a student would expect to take
four years attending two semesters each year. It is possible for a student to move between one university and
another during his degree course, though this is not in fact done as regular practice.

For every course that follows, a student is given a grade, which is recorded, and the record is available for the
student to show to future employers. All this imposes a constant pressure and strain of work, but in spite of this,
some students still find time for great activity in student affairs. Elections to positions in student organizations
arouse much enthusiasm. A student who has held one of these is much respected and it will be of benefit to him
later in his career. The effective work of maintaining discipline is usually | by students who advise the academic
authorities. Any student who is thought to have broken the rules, for example, by cheating, has to appear before a
student court.

31. Normally a student would at least attend classes each week.

A.36 B.12 C.20 D.5
32. According to the first paragraph, an American student is allowedto_~
A, live in a different university
B. take a particular course'in a different university
C. live at home and drive to classes
D. get two degrees from two different universities
33. American university students are usually under pressure of work because_
A. Their academic record will affect their future careers
B. they are heavily involved in student affairs
C. they have to observe university discipline
D. they want to run for positions of authority

34. Some students are enthusiastic for positions in student organizations probably

because
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A. they hate the constant pressure and strain of their study
B. they will then be able to stay longer in the university
C. such positions help them get better jobs
D. such positions are usually well paid
35. If a student was thought to have broken rules, he hasto_
A.be sent to his parents
B. be criticized by the supervisor
C. be called to a student court

D.be looked down upon by his classmates

Passage Two

Most airlines allow passengers to book an airline flight online. sites such as Yahoo and Google, all offer
search engines and online booking for an airline flight. The first thing a traveler should do when booking online is
to shop around. There are numerous web sites offering this service, and some may have cheaper fares than others.

A traveler also needs to check fares for the desired flight times. Fares can change, depending on when the
airline flight departs, how many stops are involved, and at what airport. The traveler needs to make sure he is
comparing fares so as to get the best deal.

When booking online, the traveler also needs to check the travel site's policies and fees. Most travel sites
charge a small booking fee and have other restrictions about canceling flights, and other of refunds. Many travelers
think about looking on a travel search engine first for the best the flight fares. However, the individual airline web
site may offer the best deal, since they often have “Internet only” deals booked through their own sites.

A traveler should always have a credit card available when he or she purchases the ticket, and should make the
reservation in the name appearing on the card. The traveler will then be issued an e-ticket for the flight, rather than
the traditional paper ticket. When he receives flight confirmation, usually through e-mail, he should print out the

reservation e-mail and save it with his travel documents.

36.When booking an airline night onling, the traveler should first
A. visit Google and book a night immediately
B. visit Yahoo and book a flight instantly
C. make a choice between Yahoo and Google

D. search and compare options before booking

-15-

37. Why should a traveler shop around before booking online?
A. Because the fares and services may vary accordingly.
B. Because different travelers may tend to prefer different websites.
C. Because some websites have easier access than others.
D. Because some websites offer better services than others.
38.According to the passage, the flight fares may change because of
A. the number of tickets sold B. the speed taken by the plane
C. the number of stops involved D. the food and drinks provided
39. By checking the travel site's policies and fees, the traveler can find out whether
A. it is possible to book a night in advance
B. there are additional discounts
C. he is likely to get a best seat
D. there are restrictions on refunds
40.What proof should the traveler hold in order to show he or she has booked an airline flight online?
A. Atraditional paper ticket. B. A printed confirmation e-mail.

C. Atravel document. D. A credit card.

Passage three

The market is a concept. If you are growing tomatoes in your backyard for sale, you are producing for the
market. You might sell some to your neighbor and some to the manager of the local supermarket. But in either case,
you are producing for the market. Your efforts are being directed by the market. If people stop buying tomatoes,
you will stop producing them.

If you take care of a sick person to earn money, you are producing for the market. If your father is a
steelworker or a truck driver or a doctor or a grocer, he is producing goods or service for the market.

When you spend your income, you are buying things from the market. You may spend money in the stores,
supermarkets, gas stations and restaurants. Still you are buying from the market. When the local grocer hires you to
drive the delivery truck, he is buying your labor in the labor market.

The market may seem to be something abstract. But for each person or businessman who is making and
selling things, it is very concrete. If nobody buys your tomatoes, it won’t be long before you get the message. The
market is telling you something. It's telling you that you are using energies and resources in doing something the

market doesn't want you to do.



41.Which of the following would be the best title for the article?
A. Everything You Do Is Producing for the Market B. What Is the Market
C. Selling and Buying D. What the Market Can Do for You
42. All of the following acts are producing for the market EXCEPT __ .
A. attending a night school B. working in a bank
C. growing tomatoes for sales D. working in a supermarket
43. You are buying from the market when you
A. look after your children B. drive to the seaside for a holiday
C. borrow a book from a library D. dine at a restaurant
44. The word "concrete™ in the last paragraph may probably mean__
A. sensible B. important C. real D. experience
45. In what way is the market very concrete for each person or businessman who is making and selling something?
A. It provides you with everything. B. It tells you how to grow beans.

C. It helps you save money. D. It tells you what to produce.

Passage Four

Thoreau said education often made straight-cut ditches out of twisting small streams. But not at the Eco Dorm,
which houses 36 undergraduates and is the spiritual heart of Warren Wilson College, a liberal-arts school of fewer
than 1, 000 students in Swannanoa, N. C.

In recent years, colleges like Warren Wilson took a leading role in the sustainability movement, which seeks
to develop a durable human relationship with the environment. More than 600 U.S. colleges and universities have
signed up for a pledge to become carbon neutral. Ninety dorms are now LEED certified, the most widely accepted
national standard for green design. The Eco Dorm is one of only two student residences that have LEED's highest
rating.

Two Warren Wilson students first proposed the dorm a decade ago. Undergraduates on the planning
committee initially suggested that it be built with corncobs or straw. The design, by Asheville-based Samsel
Architects, required compromises--as well as a number of creative solutions. The wood used for building the walls
was harvested from campus trees that were suffering from a certain disease. The kitchen cabinets were made from
recycled fence posts. Rainwater is collected into a disused railway tanker car and pumped back into the house to
clean the low-flow toilets. Two toilets, which convert decaying organic matter to fertilizer, are also available on the
second floor; students shovel in wood chips after they use them. The EcoDorm consumes nearly two-thirds less

electricity than would a conventional building of the same size.
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Margo Flood, the executive director of Warren Wilson's Environmental Leadership Center, says those who
apply to live there" see an integration between their actions and their values". They pledge not to use hair dryers.
Their music does not have its sound made louder electronically. The residents plant and harvest scores of fruits and
vegetables in their garden.

The EcoDorm's residents speak of the comfort of finding a home where their values are shared. “I didn’t have
to worry about paper towels being wasted or feeling bad about drying my clothes outside”, Jeremy Lekich, a senior

who oversees the dorm’s garden, says. “basically, it has made my life easier.”

46. What is the aim of the sustainability movement?
A. To persuade university to become carbon neutral
B. To boost harmonious human-environment relationship
C. To play a leading role in protecting environment
D. To develop durable dorms for undergraduates.
47. What do we learn about Warren Wilson College?
A. It has one of the most sustainable dormitories.
B. It has ninety LEED certified student residences.
C. It established the first green student residences.
D. It can provide dormitories for only a few students.
48. What do the EcoDorm'’s residents have in common?
A. Their ways of fulfilling their ideals.
B. Their values on the environment
C. Their beliefs in the e of actions.
D. Their desire for comfort.
49. The design by Asheville-based Samsel Architects required compromises in_____.
A. the appearance design of the building
B. the means of collecting rainwater
C. the electricity provided for the dorm
D. the building materials of the dorm
50. What is allowed to do in the EcoDorm?
A. To use electricity in the day time

B. To dry clothes outdoors
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C. To play music loudly with electronic equipment.

D. To use hair dryers

Part 111 Cloze (20 points)
Directions: There are 20 blanks in the following passage. For each blank there are four choices marked A, B, C,
and D. You should choose the ONE that best fits into the passage and mark the corresponding letter on the

ANSWER SHEET.

Dr. William C. Stokoe, Jr., was the chairman of the English Department at Gallaudet University. He saw the
51 deaf people communicated and was extremely interested. He was 52 person, and signs of the deaf were totally
new to him.

Dr. Stokoe decided to_53 a study of sign language. Many other teachers were interested, and thought Dr.
Stokoe was_54 to think about studying sign language. Even deaf teachers were not very interested in the 55 .
However, Dr. Stokoe did not give up. _56 ,he started the Linguistics Research Program in 1957. Stokoe and his
two deaf assistants worked_57 this project during the summer and after school. The three researchers made films of

deaf people 58 , The deaf people in the films did not understand__59 the research was about and were just trying

to be nice to Dr. Stokoe. Many people thought the whole project was silly, but_60 agreed with Dr. Stokoe in order
to please him.
Stokoe and his_61 studied the films of signing. They 62 the films and tried to see patterns in the signs. The
results of the research were 63: the signs used by all of the signer 64certain linguistic rules.
Dr. Stokoe was the first linguist to test American Sign Language 65 a real language. He published the 66 in
1960,_67 not many people paid attention to the study. Dr. Stokoe was still 68 —he was the only linguist who_69

that sign language was more than_70 .He knew it was a language of its own and not just another form of English.

51. A. means B. way C. method D. manner
52. A. hearing B. heard C. listening D. listened
53. A. give B. present C. propose D. show
54.A. idealistic B. crazy C. smart D. normal
55.A.job B. work C. project D. plan

56.A. Otherwise B. Instead C. Additionally D. Afterwards

-17 -

57.A. through B. into C. along D.on

58.A. talking B. singing C. acting D. speaking
59.A. what B. who C. that D. which
60.A. hardly B. willingly C. strongly D. merely

61. A. team B. partly C. group D. crew
62.A. made B. showed C. released D. analyzed
63.A. dissatisfying B. alarming C. surprising D. disappointing
64.A. exercised B. followed C. played D. performed
65.A. like B.as C. with D. beyond
66.A. results B. consequences C. endings D. resolutions
67.A.and B. but C.so D. for

68.A. anxious B. afraid C. alert D. alone
69.A. wished B. reasoned C. believed D. decided
70.A. actions B. performance C. speaking D. gestures

Part 1V Error Detection (10 points)
Directions: There are 10 sentences. Each of the following sentences has four underlined parts marked A, B, ¢, and
D. You are required to identify the one that is incorrect, and then mark the corresponding letter on the ANSWER

SHEET.

71. By my 50th birthday, 1 will be in my current profession for over 20 years
A B Cc D
72. I'd rather you would go by train, because |_can't bear the idea of your being in a bus in such bad
A B C D
weather

73. | met an old lady who her husband is a famous writer.

A B C D

74. Do you think it necessary keeping an English diary every day?

A B C D

75. He told me that he_has been working in Spain the previous year.

A B C D



76. | applied for the job that | saw advertised on the newspaper.
A B C D

77. In some countries measures have taken to force people to make less noise.

A B C D
78. 1 am guite familiar at her face, but just cannot recall her name.
A B C D

79.Mary’s classmates_are worried about Mary because no one was aware where she had gone.

A B C D
80. He is younger than me, but he treats me as if | am a child.

A B cC D

Part V. Translation (20 points)

Section A

Directions: Translate the following sentences into Chinese and write your answer on the

ANWSER SHEET.

81.The problem with people today is that they want instant answer. They are looking for one-minute solutions to
everything. Just like instant coffee, they want instant happiness. There are no quick fixes. This attitude leads

to disappointment or even failure.

82.For a Chinese person to write in English, he or she must first be able to think in English. This can only be done

after a long time of reading foreign books and magazines and interacting with other foreigners.

Section B
Directions: Translate the following sentences into English and write your answer on the

ANWSER SHEET.
83N T IRFFHERE, TR T IRERAT S

-18-

84. B BT A KA LUR, BoA SUE B RER R 2 4R F AL,

85.5Kk B K il & i s N =02 —»

86.% WAl N FATHRA I [ B %

87 HAEKF| — M RAE S e 2 E R A

Part VI Writing (20 points)
Directions: For this part, you’re required to write a composition entitled What Attitude Should We Take to

Western Festivals? Please write it on the ANSWER SHEET with at least 150 words.
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Part I Vocabulary and Structure (1x30=30 points)

1B
(BRI 20 i i AR T ARBEIIPIY, (B S H 204
[ s AR E S

[f##T]mean to do sth. = A B efT HAMEE", S5 8&. mean doing sth. B N EREMEFE. Hih, 4
G RATEn, Heabshidhart N EEE A

2.B
(R SR AR SRR IXAN )8, AR BE % Lk 2 B3 245 HA e 5 R R 0 AR
% R 1ARB 1S 1A

[T Imake sth.done B N“ffidEdiyy......”. X HEviews Hknow N L5k &R, bl ab i A 2
Srialknown, FRHEEN.

3.A
[RHVEIAESE A2, D0 L oK) Atk ) 2 B R A A 4 SRAR
[ R FEE A

[Nt A T A R S S AR TR, AR — A Rk N A)R 78 Hask i) BLER Rl . 7RI WA, N
BRI iE T .

4.C

[RHVE]—IRIT I MR 2 —4T3d,  JRAT BRI 22 W 7 JE R AT M L

[ il 2

[T used to do sth. & il ZHH MOt F, FF&Hf)=. Should have done 51t &Nz RAMHESL R FRKAE
(g, i AT, EARIEESIEZ A would have done; DIFUMNIEZ: 52 ey, AR AR .

5.B

[RH BB AE BT o S A8 o 25— AR TR B R R 2 I L

EFNERE

[f#dT 1 F draw a point of 1X—#&47C; reflect on:AF4H75 1, %, &4 result from:2 T, ... &KL

foeget about: &1 FRABAJE TR, MLAbTECIRA 1R T LAEB.

6.A
[ ]BAE R —FE, B L EZmis 7B — 4.
[ s E A

U AT 3 A 01 4 K ] R A g D — AN ARRR A PR S TR AR 51 1Al as 51 5 B PR B 2 3 A A T BURSCAE
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AW, A, thatwhat it ¥ 68 5] S AR H 442 15 A

7.B
(R BT IR R T VR XM 2
[ R EMIES

[f#HrIwould (just )as soon = N“TIE”, JEHE AN, MAINFHBELE . FRHRAER AR 1Eyesterday Al A1,
A RN IS R G DL, BT AN AR 8 3l 1A B FH “had-+id 22 03 I FE 3R

8.D
(BRI EA 11T, SRR R IAT RS D A L T
EFSNERE

[f#ArToccur at/in+nf[A]/4H 5, IR ARAELEFEITIFEH; occur to sh.E N NRIREE 56 8. Leave:
BN, s, 2, forget:Sid: putill, %E. WRAEEEATH, %D,

9.A
BRI AT L, ERAT IR0 5 A ZUAA
[% A A 3

[t Imight as well: A7, BUFib2, JETHMNBNE R, 585, had better: B4, J&5HZMzhnEEY, ik
WiBJE U5 would rather: 7 J&; should have done :3d s AR iZ i 5, X 5B AR .

10.B

[P0 T FRAT T 408 o A T S ) FE 55

EFGRE

(RTINS AR A . result BOMT R, #8 LR 3. 1T IR 0z K BT 51 R I 45 8, W] e B 1R 4 2R
BRI SE L effect 15l EFh B R B S EUM 45 R . outcome SRIAFARF AL R, RRRANSS
consequencet s E SR M AR B FE I 4SRN R 45 5 . evil 7 SeffectiB i, T BLIN, A ERN7,
11.B

[RR P 2 LA BRI KR X A T H RIS AR DR 1 7] 2

[% m] FiENH)

[T 8] TS5 I s A R AT AL, A 51 3 — N RIE WG], WA 5=iE . What 7T D5 SR E M F),

FE A i Esolve [IETE, AR,

12.C
[ P Ay SRR AR f5 s DR E 2 RTRES FE 2T AT IR IR 3K
[75 s3I 2

[fEAT AR 5 [ADIR 7 M F]before you reach the final decision ™ %1, Ak R RX AN 8] s oA 1E B4 58 1 T 31



F¥, ArLLR AR 52 s will have considered, R 7ERERIX AN %1 2 Hi

13. A

[RHVETS R Wi, T4k T ERITHIEEXIER

[P RS

[T A 28 2 AR AL 5 R AR SR AR A TP R HRE o AR Rnhid G LR B AR LS sk AR A v, A

R 2 5g e, BIEE 31 A “had+id 25 79
WE A HokA.

RELETID AN EIL (S

PIX AR 8], PR ZIXFEL

FE RS, )18 33 FH “should/would/could/might have+

14.C

[R5 ROZIE A W B E, BIERZ ittt C 2R R R T .

[ 1A 31

[##7]ought to have donei 7= M iZ %= couldn'thave done & A“ASu] fEffi 4, shouldn't have donei
AT T AR TR, X R S E . HukC.

15.B

[RH ] TRl B SRt R 25 5

EF=NERE h

[T ]carry out AEEIERL, BN« GFRD , 34T (@) 7. putout B AR, i, HAR”; take
out 7 A<HUH, ZEH”; practice A Sout HEEMEH. HIEAE A, %B.

16.B

(R EIBR AR IRATSS 0250
5 s PIRE A

[##47] useless:BRAE, WIERA A if...not, 51 FARAPRIEMNAT, 175
HA...... B G SN TEPIRTE A 51 S R ELRE ). B

WA IA A2 2] 9l AR A

R i R, B AR PIRE A until:

17. A

(BT B0 AR — BB IR & BUARNL, ROy e K5t

EFNERE

[fHT] afford: SCASEE, (I, effort:3% ), puheffect: S2mi, %R, {EF: forward:feit, wmiit. W
AR IEA

18.D

[BIPF] et E A e /5 B3k, FRE S N i 15 A
[ &) B
[###7] respond FIAE K Pnahialid, mON“BL......[BI&”, ARFEBE. WL, X AR

Respond to & M
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N A . respond ANAE Hin atiB .

19.C

[P IX AN T B Sk, efEs—ik.

[ 5] AR

[f##7] asfar as sth. is concrned &[5 & #4500, BAHL...... M5, fFHEE. HUEC,
20. A

[ R S K TARRE S48 T SRR IR A1
EFARERS: 2k

[###7] hand over: 22 i, #4742;hand in: 52 #2585 hand A Ljto,by#& L. RARAIER A1, LA,

21.D

I SR o NS W = RO s et R a8

[ ]k il 1) FH vk

(BT “the E 1K on—2K N, the elderly FN“ZH4 N7, topic sen#f4in, Mab Az, FrblB HAE
ki) a.

22.B

[ A 7 R AR FFER R A — A S I FE -

[ s 1A T A T

[f# 7] keep in touch wih A [E EFARL, BON“S.... REKR?, FEHEE,
23.D

[FPE] EBIEURE QAR ER, Bfb 22 AP B 23 B3 #
75 5] il L

[ ]in need BN TEfEHMEF BT, (E55 NI, 1E)G B w12 fothers,

. JUETAAEEfor need , toneed. #ikD.

in deed® AR IE, SEfr B ARFE

24.C
A ERMNERE S, RAOVEFRZAMAEL R LAF RO RZE T ERNAZL.
[ RiPIRTE A

[ERTif ARSI FLRIENG), SHEFRDIL: whether 51 FilRENAINS, #15 ornot #4HC, HMAR
MBRIRE R, JETBAFEIX 1M, FreAnT HiER; RO AN SNBSS N, FrelEmA G2
FERRIN ) AR .

25. A

R EE1ATT 5

(BRI L S AE — B AT b 18] 5 (KRR L

ER)

¥ g =
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[ s iAlE S A

[f##7] be attached A[HEETL, BA“KIT, RE", FHEBE.
26.D

[RH PR i 0 A2 Ko IR R ARAT T — M & R

[% s AE I G2 A

[f##7T] had better 2 J5 MR I to [ASE R, #JK had better do sh 4544, A “B IR, “fif 280K 711
IEWiZRiE 7R 2 savings account. #i% D.

27.D

[RHEEIMBAT IS B T IRATF 200, AT B R .

[ 1] il AR — 3

AT A AT AR e AL, 325 2 J5 9 ARRR S P e i ), ok SRARIEFE AT T (4607, BT AZE R which
kol e MA), HiEES A REOE . ik D,

28.D

[RHPE]FRANZ U AN R G A

[ s0Zh R 2 EE — 3%

[t Isince 2 FE i (bR &, A8 )R since 51 SR TRDIRTE M A, FT DA ) L H AR SE S o R4 6]
BT, WAIRIRI RIS ZAAERRES, B AR ER R S A 2. Wk D.

29.B

[RH P E R R AR A ATD M B8 0 R BBt Sk AR 55 3B R JE

[ RERLE R

UEFTIE it R ETE R & AT, MW R ORI o7 & R yUE 5, Al T 2 i X
N“should +}jis] J5 £ should R LA . 341, they A1 rescue 28 ERZNTESC R T AN IS ADE 2
30.D

[RH Rt 1] B R T A 2B AR, N R R IR A LA TSR 1.

[ A ]5E 18 WA

DN M) S5 TT R, 185 2 N ARIR I 2 1 M. SE4T 104 notebook,the cover of which #ESGAT
W AT K, AT LU whose cover. 534k, MAJH tell ZE5 i from 3£, RS tell from, =y«
i AT, BT RAAS AR 3E from the cover of which B% from whose cover. #(i%& D.

Part IT Reading Comprehension (2x20=40 points)

31. B [fifthf] HEFRAIMT S, HEHEEE—BYEE . =HJ“A typical course consists of three classes per week... a

student will probably attend four or five courses during each semester.” \J #E&1, B/ A5 B 2 F123]1575 1R,

-21-

RABIFT & & .

32.D [fi##] LT, MRHE 55— Bt S5 —H)“... student to move between one university and another during
his degree course....” A A1, “#A42 0] DLES SR BUE A AL R, BT UL D N IERAR 2 56

33. A [fEAT] ST . AR 2R B —. ). and the record is available for the student to show to future
employers. All this imposes a constant pressure and strain of work...” 1] %1, 3% E KA KK 1 E 2 & B T4
WK DB A IR BV RS, FrLLATUER

34.C  [fbr] S scgn iy @l. ¥R —BEEIUA)“A student who has held one of these positions...it will be of
benefit to him later in his career.” 7] &1, fE%#4 < TAERT LASRAR B 2 (2 574 B T LUS HRNL AR, B BLik
TCH IEM %

35.C  [MAdT] S segn s i, HR¥ESE Bt 5 —HJ“Any student who is thought to have broken the rules...” 7] %1,
FTART S S U 10 25 A S s B 2 AR VR B I PACTRIE 7

36. D [ffhT] HHEFE 0. HRYE 55— B 55 = %)“The first thing a traveler should do when booking online is to
shop around.” ] #E 0, X 1 SEHLEE 15 20 B At 2 b N R IR T LR, FrPLETID M IERR & % .

37. A [fRHT] HEELAINT @, MRS — Bt F —f)“There are numerous web sites offering this service, and some
may have cheaper fares than others.” [ HEAT, A [F] Wk 1K) R 555 SRAN AN, SATUIER .

38.C  [fidr] S scgn iy i, HRPESE —BtSE —f)“Fares can change, depending on...how many stops are involved,
and at what airport.” " &1, SR IARAL LT RIS TE] . Prfsub g, (=@ INLg, PRl CIER .

39.D [T SL4 T . AR S5 = B 58 —f)“.. have other restrictions about canceling fights, and other types of
refunds,” ] K1, TR FE NG SR ROZAT A — N Pl B A 9, I 28 BUE MTPER 22 15 A HAm I 2 H e
LD,

40. B [fifthT] SHsc4i s dl, MR i — B 28 . =H)“The traveler will then be issued an e-ticket for the airline
flight...When he receives flight confirmation... with his travel documents.” 7] &1, AEUE 1T AR 28 I ZEAEIE ) S2 4T
EIRR IR EERA S, BT LUIE A 22 BT,

41. B [fifEh] 3 B RS, @ sCnl A, SCEH—H)“The market is a concept.” 2 ' SCH125 [ SEAISE 1) B A
FOlERE 7R . H AT R AR S AR 1A AR T I AR, B AR B O I

42. A [fERT]EESc4u . ARYE 25 = BXEE—H)“When you spend your income, you are buying things from the
market.”R] 1, EIA(EREEE)FEMLE, ST ERARW, MARATGERE, FrLUEHA
NIEWHE R .

43.D [f##T] FSLguiE. fR4ES BB — H)“When you spend your income, you are buying things from the
market.”F[ A1, RN ESERPE, WD “YERITHHRANK” & ER8N, FrlikD.

44.C  [AERMTRIE B AR . ARYE B )5 BYSE— . —f1)“The market may seem to be something abstract. But for each



person or businessman who is making and selling something, it is very conerete.” "] %1, but J& f)4)1 SR T )
BT REE I R AR TR R, T DAG T 8R]3R IA R B E R T — AN A AR TN
K, Mg ERN), RERN. BEATHER, concreter A SLAEM, FAKM, HM”, Firealm BAHIE
45. D [fEAT]HEFL TR . ARYE i )5 — Bt m DU f)“But for each person or businessman who is making and
selling things, it is very concrete...It’s telling you that you are using energies and resources in doing something the
market doesn’t want you to do” FIHERI, T Fa R & & VR & KA A4, B LR THD OV IE#Z 5

46. B [f#AT] BEE LA T R
the environment. "W 1, FIHFERKRIZENEAETFRNG HIRTIIFLEAFER R o ILIBAE I AT 1 [F] LA
HUEB-

ATA  [EHTIAHESE IR . AR 55 — B m W9 A AT L, EcoDormy@ SRBUB 4k (1 BT 2 WL LEED 5 iy €
G A2 TG v 2 —, BT LA LA EcoDorm & S Sk i) (R f vl RELEI ) A i 2 — o TR IR S — B
PN 25 7] KlIEcoDorm & Warren Wilson CollegeH () —AN SCRMFABE . HHEAER, ETAN IE#IZ % .

48.B  [f##iT] B SZANTT . MRYE 5 — B —FA)«... their values are shared.” " %1, {¥:7£EcoDorm{) %4k 4 Ik
RN, i AR &S 3emT g, X BB AR A SR T T W . #idkB . shared 5in common &
ey

49.D  [fEHT] DHERE A Wy

compromises- as well as a number of creative solutions.”fR # I T A %1, #L

M4 2 — Bt 35— ). which seeks to develop a durable human relationship with

A T 5% Bt 1) “compromises™ ] 5E £ £ 55 = Bt &5 = f1)“The design...required
DS IR 2 A ) WA R
RIS BR RSB TE B, 1T 5 SR GERA R AR SR 11 T I B 25 3 AR A o 5 P M A A2 FH [ AC 1 358 B 1A
P . EH TN, 7 R B A e A AR, BT DL IR 2 DT

50.B [fi#th] B Sz . MRIEHIUBES . =%)“They pledge not to use hair dryers... Their music does not
have its sound made louder electronically.” ] %1, EIHC.DAIER. EIHASCHFARIR N . W &G — B —A)m
did not have to...feeling bad about during my clothes outside..." n] %/1.i%£ B IE#ff »

Part III Cloze (1x20=20 points)

51.B

[ £ 13 SCHEbT

[f#AT] means: FB, Jrikway: 7k, 3, ZARMMFHM 7L method: (AL R4 ik, /8% manner:
R, BB, B, JraURer, AR ERSUAT . AR AR E BRI ISR T R R, R
MR, Mk B.

52. A

[ ] 3 4 i At

[f##T] hearing person SN[l V%, BON“Wr JTIER BN,
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53.C

EFNNERE Dy

[t ]give: 1%, 45T present:$2H, EI; propose:$EH, 21 show:Erx, Ui, RoR“BEH—IEFR”
i, —MASH present, N F propose. #ii%E C.

54. B

[P s R HE R A

[fEr]idealistic: BEAE 3= LEE) B, AR crazy xR, JERRET; smartBEEART, HLEH; normal: k% (1,
Ao MR b SCVR 2 I R e 52 AR S UREEAN BOGE AT HERD, AATVONARIK T 4 & B R TS

A%k B
55. C
[ m 1A AT

[#HTljobs L {F, BUk: work: Lff, fF & projectBiH, iHlplan:ith, #157. HE@EAR, # C. il
I 3C“Stokoe and his two deaf assistants worked. ..this project”#1“many people thought the whole project was
silly...”rH 1 HUEL ) project tomf 1k Y IEFAIA % .

56.B

[5% s 3m St A

[f#47] otherwise: 75 0], ANSR; instead: /< ifi, #H); additionally:itb4b, #54b; afterwards: 5k, SRf5. fR4E L
NOCATED, WHERIRRTEGE, JRIMAE 1957 SFEMOL TR S WA H He AR — N RSB, Haia
HJREATA, 1% B

57.D

(75 5313 ST

[f##T Iwork though: 52 B ff e work on:38 /7T, MET; work —#AR5 into, along $ARCAH I, AR #E 4] & Al
A, 1% Do

58.B

[P s ]2 R P A

D AT AR R SCRT L, = Anmi 78 SR A L2202 N AE T IESSR I RS, T ARLIE signing (3445
) . H%E = B3 —H)“Stokoe...studied the films of signing.” 1 H I signing th 1l i% H IEAHE 2

59.A

[P s a4

RT3 B A 45 R mT RN, understand 2 J5 2= 1H A), A b o] DUE R IR 5] 5407, B BLRCI%E what,

YE about H 5.
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60.D

EFNNERE 5N

[t hardly: JL-FA :willingly: ik sk, JEZH; strongly: 5 JuHh, "omth; merely: A, AANE . #E4E EC
AL V2 ANV R EREE, R ik R A 2o Tk émiel, BrLARLE D.
61.A

EFNNTRE 5

[fEtT]team: F1BA, party: 32>, group:#, HlA;crew:P\2H, 4R . MRIEG)E T H0, WrdGoe 4 2 A i
BA—SHFFC 0, BT LLREE A

62.D

(%5 i3 St

[fEATImake: ffi 5;show: 7, UiHH; release:Béifl, & Af; analyze:/r#r, Wi7T. ULALZFRAAT MR, Br
LN Do

63.C

EFNNTRE 3N

[ b ]dissatisfying: £ Aviif /2 ;alarming: & NFHAE ), & AR surprising: & A1 1T, & 41 ; disappointing:
ANKEM, SNHAER. 456 T3 RRERMIZRES NN, Frelvik C.

64.B

EFNNTRE s

[f##HT] exercise: iz, Hlk: follow:HRFH E1E: play:Di%, ¥y, perform:#dT, e, MRIsAIE A0, 45
RELW T IHEE— € ME S RN #uk B,

65.B

(7% R 1] LAt

[fRA] like: Wi 7], 471%; as:dnfal, 1EA; with:H, BE%E; beyond:7eicil, #EM . MUEAERTA, Wity ek
FARME N — TR IERE F RS, BrRlNi% B.

66.A

EFNERE

[k result: 45 8 J5 58 ending:45 R, 452 resolution:fifik, weill. MAEAIEM, & A. FNEES=
BSR - A) ) results AT HIZ & .

67.B

[P s I R P

AT IR B R SRl BUAR RN SRR AT )R], Bt LA but(fE/2).
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68.D

[75 I A R

[fEHTIARYE ST “he was the only linguist...” 7] 1, b AL N AH alone(IRAR I,  FTE) ME— 1K)

69.C

(75 s3] LT

[fEAT] wish: A5, P reason: il HEKT; believe:#H{S, A N; decide:ihig, NHlr. HRE AR “fh ZME—

—ANREFAEAMUBGR T3, R T TISLE 5 HE S 20 ALk C.

70.D

[ AR HEPL R

DA AR s B SCaT %0, e v 1 1 B AE 1B AR T3, 162 — 1 TMAZ1E F . action:4T Jy;performance:

3 speaking: i iF gesture: . #ik Do

Part IV Error Correction(20 points)

71, [FAPE] #1450 & A H ¥ CAEMAERN KA LT+ 2F T,
[#EHT] A B2 will have been. KR4 4] = AT [E)RE By my 50th birthday 7T %01, A ) 5 Kk 58
TR N R B R BB R A 2 AT A

72. [RHVE] FREIABIRAE KL, BONREIE B R AR LIRS R AE L AL
[T A L2k went, 7E would rather 5 [ E T W A) T, 1815l B 25 X (be 21 H were) =t
PUAE B AN DU REAI; ] “had+id 237018 TR AAFomxh il BAF LR, By IR B RIf) =
LIPS NAPEY O NES S AL R = e R AS Epuie v

73.[FRE] B ARK, M SUR R A A HIER
[##H7] B Nk A whose husband. 4 1% 25 g 18 M A) . 44T 1A 52 an old lady, M\ AJ 1) 3= 15 /& husband, & 2
[AIAAE B ISR, R 5 22 4K0A] who f i #7E 2X whose..

TA[RIPE] ARV H L ERERS — R 9EE Hidng?
[f#H7] B MBS to keep. A ER (FHIE) 7E consider, find, make, regard, think, feel 55 & 1 2B,
— A EREE, A ERE TANEZ )G, B« iE+3H+itsfMNE+o do”45M . o HT ) T 454
FIRA,  BRAR R B A AR R .

75.[FHVE] At yRIRAh 2 4F — EAE U P TAE.
[###7] B 25y had been. A% Ay zialinf 25, MRIGAR AR, MAJIEIE SN IR KIS A AR AE 3 A 18

EENA T ROR A E AT, T R A EIESE L £, B WA I [ERIRTE e — Bt (a]”,  #h A
I 2 S AT I

76.[FHIF] AT AR A B TR AL



[ D RikoAine FRonrER 4R -7 Hin the newspaper.
T7[RIVE] AL E X O 2 RIS I o ) AT T e
[##H7] BN have been taken. measures Stake 2 [BfF7ER 4 EMIBh KR, SN HENES.
78.[FHRE] AR R, ARl AR R I ) 44
[##H7] B2y familiar with. sh.be familiar with sth. 2y« A BGR Y, N E 4R .
79. [RHPE] A=A ANIAEAH OIS, OB NEnE % 7k L.
[##H7] CR 2 ~aware of. be aware of =OY“RIRF, Z0iE”, NECHEHEC .
80. [MH¥] flifFaCtbIR, MR T .
[f##T] DR were. fEas ifithough3| T 177 ZORE AT, IR T EAE AR DU 2B, U5 05 2 1] — i 2L
FH ik 25X (bezh 1] FH were) .
Part V Translation (points)
81. [EHRE]G A AATI ) RAE T W B AR BB 25 58 o AATILE TR — V) il RE A BRI e o Ipick o TR A ide s mimdf—
R, ARATAR B R EAR . SR, RO AL AT . A RPN, A T ERE, HESIRIK

T,

[ERTIAS B ) 7S5 R B T B, RIS VA S R 58 — 1) vh B IS TR TS today $2 T, R — e Rl 1 %
instant answer: B[l 5 2 %5 ; one-minute solutions: — 43 B (1 fif P /0%, 78 Ak ] 25 16 < DRk i ok 7
1£7;instant coffee: T EMNME; quick fixes: 00T 5

82. [MIRF] HEANEHIESIE, HAMIALIEIYERE) . BERTlix—HM,
FE, &, DLAAHARSMNE NS HH)
[APERT I AS R 35 PR AN T B ), ) 1SS R R I, I3 B AT A S i G oy — 6 ] AN )R % . magazine:

%% &:be able to think in English: B £ 2515 B 4E A8

R g K e 4 3+

;interact with: 5. 22 i B30

83. [#Wi¥] In order to keep healthy, he has got into the habit of doing morning exercise.
[fHT1“ 9 7> A3 in order to;“fR¥F(EFT R 12N keep healthy/fit;“F% k... [ > B B4 get into the
habit of doing sth.;” & £5% 7] ¥ morning exercise. 73 #b, B4 By =R H IERA R 25,

84.[#H %] It was not until I become a grown-up that | truly understood how extraordinary my mother was.
AT ER]..... A ... 0F H not until 5893473808 KRBT become a grown-up; A~ FL”
AN extraordinary. H4b, AL N FHSEIEA) It is/was not until that... X & 7B [ARRAE Y until A AJ3E T 5
W, PUnsRiE <. 5i5h, VERERAS N 2.

85. [##1] Tourists from mainland China account for one-third of the total.
[T KBt 7E b dg A B KRt % P84 mainland China;* 5> R % 4 account for/make up.

86. [#¥i¥] The more we help others, the more we will get in return

-24-

A Bk ....., #.NiH<“the +LEEZK. .., the +EL#Lk.. "G FRoR . 11, AX—A)Mp, #34a)
T FRORE RIS IR T — BOWAERS . “[RlHRRTEEN in return.
87. [#H%] I really want to find a friend that I can fully trust .
(AT A R 2% 25 8 TR MR RIS o <S8 RS AE T LLEEAN fully trust.
Part VI Writing (20 points)
What Attitudes Should We Take to Western Festivals?

In recent years, western festivals such as Christmas and Valentine's Day have gained ever-increasing
popularity in China, arousing a heated debate across society about what attitudes to take towards western festivals.
While some consider them a threat to traditional Chinese festivals, others hold that embracing western festivals can
actually bring benefits.

As far as | am concerned, we should take a positive attitude towards western festivals. To begin with,
celebrating western festivals provides people with an opportunity to know more about western culture. In today's
globalized world, being familiar with the culture of one's own country is far from enough for his personal
development. Secondly, the celebration of foreign festivals stimulates our economy for it enables businessmen to
sell more goods than they would. Last but not least, instead of posing a challenge to traditional Chinese festivals,
the import of western festivals can help people better perceive the value embodied in China's traditional culture.

All in all, western festivals shouldn't be regarded as something to be averted. Instead, it's high time that they

were put into perspective.
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EEFEI

EHT, FHAESDKA S FS. AT BAESREAEEE R .

ARG IR E R BB R b, BEE B -

Part I Vocabulary and Structure (30 points)
Directions: There are 30 incomplete statements in this part. You are required to complete
each one by choosing the most appropriate word or expression from the four choices marked

A, B, C, and D, then mark the corresponding letter on the ANSWER SHEET.

1. If I mistake not, you used to cook your own food, ?

A. do you B. don’t you C. did you D. didn’t you

2. In translation big problem is linguistic interference.

A.the; a B. a; the C. /;a D. the; /
3. your opinions are worth considering, the general manager finds it unwise to place too much importance
on them.
A.As B. Because C. Though D. Since

4, On no account to feed the animals.

A. visitors are allowed B. allow visitors

C. are visitors allowed D. visitors allow

5. His thesis paper was rejected by his tutor because it lacks ideas.

A. previous B. excellent C. original D. reasonable
6. yourself still for a few minutes while | take your photograph.

A. Hold B. Keep C. Put D. Make

-25-

7. When Laura finally arrived she apologized so late.

A. for to come B. that she was coming

C. for coming D. to come
8.1 Alice, who was on her way to see how | was getting along.
A. came up with B. got out of
C. ran over D. ran into
9. —He seems to know it.
—Well, he to be told.
A. needs not B. hasn’t the need C. needn’t D. doesn’t need

10. He didn’t live up to had been expected of him.

A. what B. which C. that D. all
11. a raining day, we gave up our plan to go hiking.
A. With is B. Being C. With D. It being

12. Thank you for telling me that. | really

A. don’t know B. didn’t know

C. haven’t known D. hadn’t known

13. Jean pays little attention to her appearance, otherwise she a very attractive girl.

A. ought to be B. could be C. must be D. should be
14. She did not feel going out, as she had a slight headache.
A. about B. like C. after D. for

15. The country has too many wars in the past few decades; its people are longing for peace so much.

A. prevented from B. resulted in C. gone through D. gone with

16. The painter lived more than a decade in Europe, he could be in close contact with other cubists( 744

TRZIARK).
A. where B. in which C. that D. in that
17. That man looks familiar to me. He reminds me Dr. Richards.
A.to B.on C. for D. of

18. There is no that he was once a thief. But it doesn’t mean you can always regard him as a thief.

A. deny B. denied C. denies D. denying

19. There have been many in their marriage but they still love each other.

A. ups and downs B. from head to toe



C. time and again D. over and over

20. This hotel $60 for a single room with a bath.

A. claims B. demands C. prices D. charges

21. After the speech , & lively discussion started.

A. being delivered B. be delivered

C. was delivered D. having delivered

22. | had just started back to the house to change my clothes I heard voices.

A.as B. while C. after D. when
23. He has left his book hereon_ so that you can read it.

A. purpose B. aim C. intention D. sense
24.Don'tget_ your schedule; stay with us in this class.

A. to change B. changing C. changed D. change
25. Sooner or later, she will the shock from her mother's death.

A. get out B. get off C. get over D. get back

26. The mere fact most people believe a nuclear war would be madness doesn’t mean it will not occur.

A. that B. which C. what D. why
27.We finally __an agreement after a lot of hard argument.

A. reached B. did C. arrived D. drove
28. Ms. Wilsonis___ Mr. Thompson while he’s on holiday.

A. standing up for B. standing up to C. standing in for D. standing for

29. She’d like to arrange her own room she wants.

A. some way B. whatever C. any how D. any way

30. They were under the that the company was doing well, but in fact it was in serious trouble.

A. conclusion B. expression C. enjoyment D. illusion

Part 11 Reading Comprehension (40 points)
Directions: There are 4 passages in this part. Each passage is followed by some questions or incom
plete statements. For each of them there are four choices marked A, B, C, and D. You should deci

de on the best choice and then mark the corresponding letter on the ANSWEAR SHEET.

Passage One

My love of nature goes right back to my childhood, to the times when I stayed on my grandparent’s farm in

-26-

Suffolk. 1 think it was my grandmother who encouraged me more than anyone: she taught me the names of
wildflowers and got me interested in looking at the countryside, so it seemed obvious to go on to do Zoology at
university.

I didn't get my first camera until after I'd graduated, when | was due to go diving in Norway and needed a
method of recording the sea creatures | would find there. My father didn't know anything about photography, but
he bought me an Exacta, which was really quite a good camera for the time, and | went off to take my first pictures
of sea anemones(#F%%)and starfish(ifF &£). | became keen very quickly, and I learnt how to develop and print.

I've tried from the beginning to produce pictures which are always biologically correct. There are people who
will alter things deliberately: you don't pick up sea creatures from the middle of the shore and take them down to
attractive pools at the bottom of the shore without knowing you're doing it.

There can be a lot of ignorance in people’s behavior towards wild animals and it’ s a problem that more and
more people are going to wild places: while some animals may get used to cars, they won’t get used to people
suddenly rushing up to them. The sheer pressure of people, coupled with the fact there are increasingly few places
where no one else has photographed, means that over the years, life has become much more difficult for the
professional wildlife photographers.

Nevertheless, wildlife photographers play a very important part in educating people about what is out there
and what needs conserving. Although photography can be an enjoyable pastime, as it is to many people, it is also

something that plays a very important part in educating young and old alike.

31. The author decided to go to university and study Zoology because
A. she wanted to improve her life in the countryside
B. she was persuaded to do so by her grandmother
C. she was keen on the natural world
D. she wanted to stop moving around all the time
32. How is the author different from some of the other wildlife photographers she meets?
A. She tries to make her photographs as attractive as possible.
B. She takes photographs which record accurate natural conditions.
C. She likes to photograph plants as well as wildlife.
D. She knows the best places to find wildlife.
33.The author now finds it more difficult to photograph wild animals because

A. there are fewer of them
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B. they have become more nervous of people
C. itis harder to find suitable places
D. they have become frightened of cars
34. According to the author, wildlife photography is important because it can make people realize that.
A. photography is an enjoyable hobby
B. we learn little about wildlife at school
C. itis worthwhile visiting the countryside
D. it is important to look after wild animals
35. Which of the following describes the author?
A. Proud. B. Sensitive.

C. Aggressive. D. Disappointed.

Passage Two

During the past few years, the popularization of the Internet, by lowering the cost of global communication to
moderate levels, is leading to a near perfect market for information. It has bred enterprises that grow and change
with astonishing speed, creating millionaires and invigorating the economy. The Net has brought to even poor
libraries a wealth of resources at very low cost. It has enabled individuals to speak in forums small and large, with
an ease and fluency that would delight the founders of this nation, if they could see email, the World Wide Weh,
Usenet, and online chat.

The tremendous good done by the popularization of the Internet has caused some problems, of course. Chief
among these are a weakening of privacy, greater exposure for matters that most people would prefer were absent
from society, such as hate speech and child pornography, and an increased risk of one's children (or oneself) being
confronted by an image or text that better might have been left unseen. The Internet has brought the entire world
into the living room, but some people are finding that there are certain parts of the world they would prefer not to
have anywhere in their home. An example that has become an everyday displeasure for many is junk email, also
called“spam”. On a bad day, up to 30% of the email processed by major Internet service providers is spam, much
of it promoting sex sites and get rich quick schemes. Many people have had to abandon their email accounts, as

they become filled with trash. Left unchecked, spam could spoil the great public good of the Internet.

36. The popularization of the Internet may stimulate the prosperity of the economy in that
A. it provides information at high speed and low cost
B. it creates many chances for enterprises

C. it helps to encourage technical innovations
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D. enterprises are growing quickly
37.There is an increased risk for children with the popularization of the Internet because they are likely to.
A. express their ideas freely while online
B. be exposed to unhealthy information
C. make dangerous friends when chatting online
D. confuse what is good with what is bad
38. According to the passage, the Internet .
A. shows us pictures of the world in the living room
B. brings us into contact with the current issues of the world
C. provides easy access to information from all over the world
D. enables us to keep in touch with anyone in the world
39. Junk email is used as an example to demonstrate the Internet may
A. help people become millionaires quickly
B. bring great troubles to one's life
C. give excitement to people
D. bring about an age of information
40.What is the writer's attitude toward the Internet?
C. Critical. D. Neutral.

A. Approving. B. Disapproving.

Passage Three
To Whom It May Concern,

Scott Smith worked for me at XYZ Technologies for three years, as a senior technical instructor. I am writing
this letter of recommendation to confirm that his recent layoff from XYZ was not in any way tied to his
performance, and to highly recommend him as an employee with your organization.

Had | been the choice, | would not have laid Scott off. But it was not my decision to make. XYZ decided to
withdraw from the PC market, balance expenses with the anticipated reduction in sales revenue, and hire a
consulting firm to evaluate long term staffing needs. As a result, XYZ drastically reduced the size of its workforce
by dissolving the entire PC division, including the technical training department. Unfortunately, this major
reorganization left no other position open for Scott. We regretfully had to let him go.

Scott is a conscientious, highly skilled technical instructor, worthy of at least a senior or management position.

He has keen insight into the learning process, and is an expert in needs analysis, project management, course



development, and classroom instruction.

Scott’s in depth product knowledge, unique instructional techniques, and excellent people skills have
consistently received admiring reviews from his students. Should conditions at XYZ change, I wouldn’t hesitate to
hire him back.

If you would like to speak to me about Scott’s skills, talents and work habits, feel free to call (123) 555-0002
or page me by dialing (123) 555-0003.

Sincerely, Mary Doe

Vice President, Technical Services

41. Mary Doe wrote this letter in order to
A. praise Scott Smith for his excellent work
B. support Scott Smith’s job application
C. promote Scott Smith to a higher position
D. look for a technical instructor like Scott Smith
42.XYZ Technologies reduced the size of its workforce because
A. some departments did not work well
B. its sales revenue fell dramatically
C. it is faced with serious financial problem
D. it decided to give up the PC market
43.Scott Smith has been laid off because of .
A. the reorganization of XYZ Technologies
B. his poor performance in technical work
C. his poor physical and mental condition
D. the prejudice of the Vice President
44 Which of the following might be the relationship between Scott Smith and Mary Doe?
A. Close friends. B. Colleagues.
C. Employee and supervisor. D. Student and instructor.
45.Which is NOT true about Scott Smith?
A. He gets along well with colleagues.

B. His students admire him very much.

C. He is good at project management.
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D. He is applying to a consulting firm for a job.

Passage Four

| used to go to Starbucks for their coffee, but that's changed since | discovered their comforting, tasty teas,
which are better than coffee any time. Tea is cool even when it's hot. People drink more tea than any other drink in
the world, except for water.

Whether it's served hot or cold, natural and flavored teas are drinks that have been consumed for centuries.
Everywhere you look, you'll find various kinds of teas—in restaurants, grocery stores, television advertisements,
and gift shops.

Why is there all this excitement about tea? What's its attraction? Well, there are many possibilities for why
more and more people are drinking tea. One possibility is that people are coming to notice the benefits of drinking
tea, particularly green tea. Studies show that drinking four cups of green tea a day can reduce the risk of developing
various types of cancers, as well as heart disease. The key to tea's effects of cure seems to lie in chemicals found in
tea which prevent a process that leads to the growth of cancers. Green tea may also prevent skin cancer. It has also
been linked with helping the body to rid itself of harmful materials, and green tea is thought to possibly protect
against colds and Parkinson's(H 4= #x) disease.

Another explanation for why people are drinking more tea may be due to the comforting process of just
making a cup of tea. The time it takes to prepare tea leaves in hot water and enjoy its gentle flavor forces drinkers
to slow down and relax a while, making it the perfect way to improve a world where people are so crazy about
cappuccino, a hot coffee with milk in it.

So, whether you drink tea, eat it in foods, wear it to smell good, or take it in pills, one thing is certain, the use
of tea is more than a trend—it is a habit of our past and if studies prove the benefits of its use, it will undoubtedly

be an important element of our future.

46.Nowadays, among all the drinks in the world, tea is
A. the most widely consumed drink
B.as widespread as coffee
C. even more widely consumed than water
D. the second most widely consumed drink
47. The passage does not mention as a possible benefit of drinking tea.
A. preventing skin cancer

B. helping the body to rid itself of harmful materials
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C. curing Parkinson's disease
D. reducing the risk of developing cancer
48.1t is good to drink tea because the time it takes to prepare a cup of tea.
A. allows the tea leaves to absorb enough water
B. enables drinkers to relax
C.is suitable for people to get some news
D. can improve the quality of cappuccino
49.The writer suggests that in the future people will probably
A. follow the trend and go on drinking tea
B. drink more water than tea
C. form the habit of eating tea leaves in foods
D. take tea as an important part of their life
50.The passage is mainly about
A. the benefits of drinking tea
B. the benefits of drinking coffee
C. using tea leaves in fortune telling

D. advising people to drink tea and water

Part 111 Cloze (20 points)

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked A, B, C,
and D. You should choose the ONE that best fits into the passage and mark the corresponding letter on the
ANSWER SHEET.

Effective communication with people of different cultures is especially challenging. Cultures 51
people with ways of thinking—ways of seeing, hearing, and interpreting the world. Thus the same words can
__ 52 different things to people from different cultures, even when they talk the “same” language. When the
languages are different, and translation has to be used to communicate, the _ 53 for misunderstandings
increase.

Stella Ting Toomey describes three ways in which culture 54  with effective cross cultural
understanding. First is what she 55 “cognitive constrains(i\ F1ZJ%)”. These are the world 56 that

provide a situation that all new information is compared to or inserted into.

Second are “__ 57 constraints”. Each culture has its own rules about proper behavior which __ 58
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verbal and nonverbal communication. Whether one person 59 the other person in the eye or not is one thing
that varies from one culture to the next. Whether one says what one means publicly or talks 60 the issue is
another.

How close the people stand to each other when they are talking is a third. All of these and many more are
61 of politeness which differ from culture to culture. Ting Toomey's third __ 62 is “emotional
constrains”. Different cultures __ 63__ the display of emotion differently. Some cultures get very emotional
when they are debating a(n) __ 64 . They vyell, they cry, they exhibit their anger, fear, frustration, and other
feelings openly. Other cultures try to keep their emotions___ 65 . They exhibit or share only the “rational” or
factual __ 66__ of the situation.

All of these differencestendto__ 67 to communication problems. If the people __ 68 are not

aware of the potential for such problems, they are even more likely to fall victim to them. Even so, it takes more
than __ 69 to overcome these problems and communicate effectively across cultures. It also takes patience and

___70___ tobridge the sometimes large differences between cultures. And not everyone has these qualities.

51.A. offer B. provide C. give D. teach
52.A. mean B. make C. have D. keep
53.A. secrets B. reasons C. points D. chances
54.A. interferes B. blocks C. prevents D. hesitates
55.A. identifies B. describes C. calls D. entitles
56.A. ideas B. concepts C. sights D. views
57.A. performance B. behavior C. action D. event
58.A. affect B. control C. effect D. cause
59.A. watches B. views C. sees D. looks
60.A. about B. around C.on D. with
61.A. customs B. rules C. methods D. forms
62.A. element B. component C. factor D. principle
63.A. regulate B. arrange C. affirm D. justify
64.A. affair B. incident C. issue D. business
65.A. hidden B. known C. shown D. covered
66.A. modes B. aspects C. layers D. levels
67.A. result B. arise C. cause D. lead
68.A. occupied B. involved C. disturbed D. related
69.A. awareness B. consciousness C. wakefulness D. alertness



70.A. worthiness B. wickedness C. willingness D. willfulness

Part IV Error Detection (20 points)

Directions: There are 10 sentences. Each of the following sentences has four underlined parts marked A, B, C, and
D. You are required to identify the one that is incorrect, and then mark the corresponding letter on the ANSWER
SHEET.

71. Some of the people were standing in the street watched the demonstration, while others were singing songs.

A B C D

72..0n opening day the group went to the box office to_pick up their tickets, only to tell that a Mr. White had

A B C D
taken them away.
73. When he_left the office last night, he forgot turning off the light.
A B C D

74. However his social position is, it is necessary that he remember to serve the people.

A B C D
75. When choosing a major, college students should consider how good are they at different subjects as well as
A B C

what the job market will be when they graduate.

D

76.1"' d like to have the beef again even if it costs as twice much.

A B Cc D

77. What do you think on spending holiday in Spain this summer?

A B C D

78. He wrote at least ten novels, but only two from the ten that are now known were published during his lifetime.

A B C D
80.Visitors from the United States determined that they were bound_for leaving the city immediately.
A B C D

Part V. Translation (20 points)
Section A

Directions: Translate the following sentences into Chinese and write your answer on the ANWSER SHEET.
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81.He has lived there for 11 years now with many different caretakers and blossomed on his own. He has become
essential to the neighborhood. When you have any mail to be picked up or your dog needs walking, he is your

man.

82.That's very common in professional women. They feel they have to be all things to all people and do it all
perfectly. They think, "I should, I must, Thave to.” Good enough is never good enough. Perfectionists cannot

delegate.

Section B
Directions: Translate the following sentences into English and write your answer on the ANWSER SHEET.

83 MR L ARIEE, A 1RGS Lo & 2 KEu.

BARHE TR 2L M EHT .

85. 2 Tc Rt M), AA A S FIRA

86. 2R+ LS M AAS K N R T B Al & .

87. NIRRT, MICIRAME.

Part VI Writing (20 points)

Directions: For this part, you're required to write a composition with at least 150 words based on the following
picture. You should describe the picture firstly, then put forward your own idea and prove it. Please
entitle and write it on the ANSWER SHEET.

Mo%

N2




4

F2

HulX
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2016 EEVKIBAESEER

Part I Vocabulary and Structure (1x40=40 points)

1.D
(R I R B R 11E, R £ SR E O, &2
EFN S nE)

[f##7] used to do stheid 2% F IS S A didn't you 5% usedn't you. A.B.c ¥ATFA IR . ik
D.

2.B

[REEIR e — DN E R R TE 5 T

(%5 e il ) FH 7

[##] problem 52 84438, M HAEA) Tk i Bl ZEH a f&21fi, # A séik B.
3.C

(RIS BRI T RAGTH RS, (R RS H R I 2 1) S A S0 AR AN I A )

[ s RE A

UAENTIARIE AR, AT JE M ATE R BT e 8, WeHERR B A1 D, as 0% <R RANS, adj/adv+as+ L iE+EE,
though % 1A« /E A AELIEIERE AN AT, AB.D I ERE, ik Co

4.C

[RH PRI 2 00 AN SR VFIRIX LE B )

[ ] f51%

[##47] on no account & 75 415, AL TA)H, HE%E, A B.D WA AEE, Hkc

5.C

[RRVETR A At 0 1 STk = A 1k Py AR A 0 S T 26 T

[ sl AT

[f#H7] A previous JEHTHI, LARTRY, B. excellent {751, C. original J#flff), D. reasonable £#E (1. A.B.D

WATFE R, ik C.

6.A
R R IR TR BRI — R, IRANEL S
[ RN T

[f#H7]C put FCE AT D make $iE AT & A) =, HEF:. A hold yourself 1 B keep sill #J& T-[F 2 5l “{#F
FIEAZN” By C. DIUAFF G, Uk A.
7.C
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e a EEE oA = ReNio]in g I AP S bl At ATTRIER 788

[% rAE I ES)

[## /7] apologize for & [fl & AL AW, for ZAiA, AiAJFER doing JE, #iik C.

8.D

[BHPE]IRAE Alice KA HIE 2] T i

[ sl H AT

[##47] A. come up with $&Hi B. get out of 32/, i C. run over /% D. run in ZAMiliE]. A.B.C BIATF&
B, ik D.

9.D
[BHE]— A bR EE I . —— G, AR R & FniZ R 2.
[ KA T

[##47] need (1) 1%, need to do sth./&[#] & FHVZ, need s& 5= ahii, Pl LATS & 202 doesn't need to do sth. A.

B.C JAfF &, #ik D.

10.A

[RH PRt A 52 S AATTx A 301 2

EFN BTN

[###7] what 7£ M 5] 4145 had been expected..ft] £iE. B.C.D IAKF-E R, #Hik A,
11.D

[BIRELR NRY 1, FRATSFE 20 2 iRl

a8 EIRERE L INTE

[###7] we gave up our plan to go hiking &/~ 5E8 KA+, A5 A 18153 gave up, Bt LLA]FH A RE
HPRETEE, HEER AR IR, JATEGTE 2R, AW TR, MAB.C ARFAEE, ik D.

12.B

[RE P R R g, R AN JFRTE AR

5 RN &STES

[#EH7] Thank you S s HLTE, AR AR 4 S RIATES VR AT, MUSIH—id . AC.D A LR,
Hik B.

13B

[ R AT H SRR, S WRE AT ae e — N EER ARG I 2.

[ )& & EIES

[N SE S SR, AC.D A& R, ik B.

¥

i
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57

E2)

Q &

14.B
[ AL 2, PO A R -

[

[##477] feel like doing sth. A2 Z2 {5 . A. C.D ¥ AFFA

A HET

15.C

(R EL LR L HER, IPMERCLLN TRZHIERS, AE i E A,

[% R H A

[f##7] A. prevent from.BE 11 B. result in 5% C go through £ JJ7 D. go with Fll------ —igZ:. A B.D HUATE @
&, Huk C.

16.A

B, Wk B.

[P A E R AERRGNE T+ 248, ERIMIAMRIZREA 126 E .

%

[AEATZCAT 1A & Europe, Rl &, BB NEIARER L5,

H]EEMNA)

17.D
(BRI ) N SR A

[

18.
[
[

A E R

D

N IEF R HE A R EAE where,  #GE A

, AR RAT R A T

[f##7] remind sb of sth/sb i3 N AR RS AR, AB.C AT ERUE, #uk D.

BRI 8 e — A/ IMar,  (ERRZA R IR A— B b =M i

=y [EibEE

[##7] There is no denying that..

19.

A

“AH T

TAHIE... " AB.C ARG

(R REAEARATT A AR AT VR 2 g AR, (ER A TR IR AR 22

%

[###7] A ups and downs Ltk i $t B. from head to toe Mk ZIfil C. time and again JLIX =% D. over and over <

=,
20.

RN HE AT

=, B.CDHIAFEHRE, HutA.

D

[ P DX AN AR U — T e 18] ) B[] 2247y 60 ST

[
[
21

s ] E F

#7] charge...for.. .

C

”A.B.C IAFFE

B, WUk D.

B, W%k D.
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(RS RS, — I ESieITia 1.

[ R ES

[#HT] AB.D AT &R, ik C.

22.D

[ o) 2 SR A RN, SRARFR T 3] 75

[ R RE A

[t Iwhile J&<re, HiE”, ©51FMAT RN RIELLIER, EAEMBETERE, AP hear 2B
PEZhI (as ... RIS SE RN AR, (HA R R AN SR 2 e m KB/, BTk when [
SAECGIR” . AB.CHIATFA MR, HUk D.

23. A

[ 6 At A At ) 15 B A3 AR TR B 32

[ R ][ 5E

[###/7] on purpose J&[& 2 AL i Z b, B. C D YA &R, #Hik A.

24.C

(R RATRE R R AR T o BRI BRA I ETE HLIE .

EF=NEIRERE G

[##HT]% 75 get sth done £544, T1fj schedule 11 change Z ] & #5155 &, ik C.

25.C

[BH e AR B4 v I it BE SR £ AT

sy bl

[fEHTIA. get out #MHY, 1EE), B. get off %4 C. get over Tufil, f#IEid D. get back Tk & FERIPIRAS, Bk,
A.B.D ¥AFFG AR, Uk C.

26. A

[FPE]VE 2 NAHERZ SR IE XA F LA BIRE R F A KL

[ S]RALE A

[f##TImost people believe a nuclear war would be madness iX #)i& i fact (IFIALTE, &5 5 H that, By Lk
A.

27. A

[FEEBZIN e 2 m, A& BN —EL.

[%5 ][ E FEBL

[###7]reach an agreement i5 % —%L, B.C.D HIAFFEER, ik A.



28.C [HHF]24 Mr. Thompson 7EFE KIS %, Ms Wilson £8Z Mr. Thompson.

EF=NEER T

[##HT]A. stand up for "Wykdidr, #7F B. stand up to X1, Hi(JIELLE S AN) C. stand in for £
# D. stand for ft%. AB.D A& BIR, Mk C.

29. A
30. [ AR LA 25 A B E S 551
[75 ] 1 A
[T 1% B AT way 51 S E RG], AT XOEEER, Bk A
30.D
(R BAT 22— MR, A AFLE IR, [ERFL EERIBFIRELE.

55 s AT
[###7] A. conclusion 451t B. expression %1% C. enjoyment 3% D. illusion {5 %4855 . A.B.C AN 4Rl

&, ik D.

Part IT Reading Comprehension (2x20=40 points)

31.C

[T AR g LR 2 e o ARSCR—RAERUC, WOCE S — Bl mfE o K H
SRIFAE W LG I B b (1) B AR A LEAH A B Suffolk AR I 1R], ML BFSVER, ST IEm 4, by &
IR 274 7 . FrLAVE ik C.

32.B

[AAERIT ] A R 3 A2 G e S [ - il 38 ) oAt — S8 B A S AR R P & 3R — BT 1V 5. (R RIF
At SRR AR AR IR o A S KRB E 2 BUR AR IRAS 2 AN (0 v e 25 468 LI B
SR G AR AR R A S N 7 B, B B CE = A B A, dsbnrn, R M iR d s
R RETI B AR ST correct 45 [F] T B 1B TUH ) accurate, #2241k B.

33.C

DRI A 2 BAE R AT B A sh W S IR X 1, DA WO SRBEA] difficult W] DUE £z 21 58 D0 B
BB — AT . B SRR AE S8 MY BedpeJm — R 2R AT TR0 S 70 BB H 2 e D A ot s, Ty dedth ji B 42
BAHEMAZT, BREZEE, Aot TR LS YR R AR 1 5N . ok r &, fasE
HMEAMSH IR AT R, WUE %k C.

34.D

AT AR A 2 L, B AR SR IR 2, Oy e TR E) o M58 important
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LeSCIR e R, 5 A 5 f s Bl — ARl A, BRI BN 08 MR T2k #%, & ZORY
M2 J5 T — AN EE R . A AR AT DS TR S BT S IR 2, #iE Sk D.

35.C

DA AT T B MR 2 ST AT DL TR A 22 MOE e SO AR (K B R, VR0 K B AR AR AR 2 36 90 8 /N
{5, JERAERS HIESE T a2 Lk, ks —BENEEESNEY BRI TR KB RN HE,
BRI EHARF WD) $oE %ik C.

36. A

[T Ve R AR X P R v REAE T TR FF SR . f @1 5% 881 popularization of the Internet 7217
B E B ) SR A AT, DR I e v R AR A SR AE R T TR R R, M SRk A

37.B

[ARATT )i 55 o DRRE DO R 5 2, DRLRE IO T ) LB SR Ui A 1 g U, BRI AT RE o AT R4
increased risk /% children 5217 % —BeEE DUAT AT AT, — AN H a0 R KU THOM SAAR R SOAR, T IX 2L 5
ERISCASTTRES A LS AF o I DADRRE s T ) LB SR A 1 i X U, IR A AT TPl R 2 B AE MR B B 2
B, HEFIEB.

38.C

DTS R AR SC s s, BRI o S TEREETATIA, R Ca st it e %=, C
eI B T, R S AR I T LA 5 i A et A RS R

39.B

AT ] R0 RS AR A — AN T PSR TE R R I T B o AT O04 3] Junk email 7] 5 £ 22 38
TBE)\ TR, HR AN RS AR S N AR TS ORI AR RRA . HUE SRk B.

40.D

AT ) 0 DR R A 2 0 R A A VB R S AR IR SR T TR T RVRR I, 3 B 2 W o
1, A AN ARG O, MERIED.

41.B

[T ]85 Mary Doe X5 N T o MIXEHE ) am writing this letter of...” X AJTEEI A A1, XA
—# 4 Scott Smith # A\ w] KHERF(E, Hi 5i% B.

42.D

[T XYZ HORAFHIEST 3 I BERA_ o A“XYZ decided to with draw from the PC
market,” X FJIERI AT &N, XYZ BORA 5] HIRT7 8 71 ECR ROy e g i85 PC iy, il 5ik D.

43.A

[T Scott Smith C&wi e Am T

cil

- M As a result XYZ drastically reduced the size ... we

ER)

¥ g =

i




w4

F2

His X

L

R

N

7 <

57

E2)

Q &

regretfully had to let him go.” X AJ1F ] &1, fi# i Scott Smith & T XYZ HiRHEMH, HMEZRIE A

44.C

[T R 2 W8 50 ] g & Scott Smith AT Mary Doe 5% 2243 [ o 2 AT %1 Mary Doe #2&5 A IR 55 )
HIZEE, AHENPI AR EE SR RAKKR, &R C.

45.D

[T 9% T Scott Smith WE— NI A I B2 8% J5 — MG Scott Smith 1ELE HIE & 28 7] FYERAL,
B IR ARIRE], WEFE D.

46.D

[TV IAE, EEAEFREYRIZE, F2_  BmE—BEA A, BRTK SR AREREH
MR HABAE TR 25, RIS S KR I AR IOk, 3 &% D.

47.C

DRI SO B B S B — B R KT RERI AP AL . A NI D SR IIA/E 55 — Beffl# —, —pia)isl, B &I
TEEE =B m — AR, WME Rk C.

48.B

[T A S S AR E, FORHES —M BTSRRI ol OCHEA the time it takes to prepare a
cup of tea &7 255 = BUE A WAL, AT (B AT DUSEAR R 0RS ,  WE SR B

49.D

[T S A R, EARRANATR TR
AL BB Sy, #UE %% D.

50.A

AR R EE R T o SRR, M RIE A
Part ITI Cloze (1x20=20 points)

M SCRJE — AT AL R AR A TARK — A HE

51.B

[T ] E F4 B provide sb with sth 25 3 A S US4, oAt e 10 1 [ 72 #5 7iC /2 ofer sh sth, give sb sth, teach sb
sth

52 A

[ HT] mean Wk, SCHP A 1 735 B “[RRE A BRI SR A R SCAR I N SRS AN R AR 5. Make il
have #, keep {#%F.

53.D

[f#HrIchance Hl<x, ML . SO RIA I R R “BIIEAMS A T 220, B9 7R ARIIHLZE . secret FiA%, reason
JRH, point 5
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54. A

[t interfere T3, T-Hil. SCHRIEM R T T 85 CALRIER AR - “block FELES, prevent [k, hesitate i
%

55.C

[fgtr]call FRAE, AYBR, SCHRIE I ERLZ S — M FR 2 AL identify %57, describe 55, entitle
it ... fr 4

56. D

[f#HT] view M 55, world view 1730, idea £87%, concept #:2, sight #1£k

57.B

[##4T] behavior 1774, HH R 3CAT LUAITE SCHRIA 2 “1T N2, performance K3, action 173}, event 5
i

8. A

[ffetir] affect 520, V25, effect oM, MR, wWPEZ41. control #, cause 5. CHERILHIE
SRR T 1 Sk Bk O Sk A, i 2hin affect,

9.D

(6]

a1

[###/7] look sb in the eye & &L, “BEAHEN”.

60.B

[ Hir] talk around i | — KHEEIRA S FRELE, A RER, —MAREEH CERKEEARY & BEE
B, AU HEA A S SR 1

61.B

[EdTIrule e, BN SCh ZERIA ) AL, SRISCAT RN IR R, custom X%, method 77
%, form

62.C

[fi# 7 )factor [A 2, element(3& 44 rb 1)) A3 43 ,component 41 /i #B4), principle J& N, SCHh &k )& Ting
Toomey's 155 =/ MA % .

63. A

[t Iregulate 77, F2f. SCHRIAR DR AR SCEA R R 55 A B 2757, arrange 224,
affirm IESE, justify iERH

64.C

[f#ATissue W Et, affair 4% incident 4% business AE 8. SCH$E H 2 BHE B8

65. A



[f##T] hide B2, know Z%1i&, show 7, cover i, SCHHERIERZ“HIMI WS Ik E .
66. B

[f##fr]aspect 75 1fi, mode 77\, layer |2, level ZK~F-o SCAik ity A ) 5 B0 H 4 B 2 S ) O T

67.D

[fAAT] I 52 $5 C lead to 3%, arise HBHL, result 4554, cause 5/,

68. B

[###]involve ¥ & occupy 747 disturb $5L, relate ... B Rk, ChigR R ABIKN. »

69. A

[f#HT] awareness i, Wi, 5 FSCHTE 2 “aware”H%T B, consciousness %1%, wakefulness %k L%,
alertness 7

70.C

[f##TIwillingness &= &, worthiness 1/11f, wickedness B3, willfulness L1, SCHRIA A FH i O AT S
THBR AR B 3 .

Part IV Error Detection (1x10=10 points)

71.Cwatching [ IEETE A HCIRE: Some of the people were standing in the street /& 5¢ #1147,
ZA181EsE, Bk watch 5 AEIBE A £, people 1 watch 2 [a]& FAE 0, # A watching.
72.Conlytobetold  [f@Hr1AEEIE/ERIE: only to do Fam NERILE R, AFIE R i Epish, A
only to be done 2.

73.Ctoturn [fEMT]HEIE 1B /E 51 forget to do sth(A:f) &1 Z: it 2/ forget doing sth( = i) & it 3 5
[T TRE A F): However + ad/adv +3:+1F,  Joib/EFF(Whatever+(n)+F+iff.

R4 i ) A4 R Ve R T RAR T, B, i)+ 3118

BT 5B TR 10 -+ 05 H+as+ 1 2550 RIHA) 1 J A +as+ LA 6 %

77. B of [fi##HT]/1": What do you think of...? “URiIAN....EARE? RS,

[ERT 144 1] i A 2o i o< R D of e T 2

[T EE 20 neither...nor. ML, HIESRFELEN, BEHLKZ |, HIFES

74. A Whatever
75. C they are

76. D twice as much

78. B of the ten
79. B am going
1A A am going.
80. C to leave [f#HT] I 52 $4 8L sb be bound to do sth.j& [f & 45 #, — & B,
Part V Translation (20 points)
81 %, AAEMRHANE T 11 4F, FEWZ AR, FNREEH CAEES A A G T 7 <8 B A
A BRI I SRR W, B S, gt R AR T
[ARAT MR 2 A ) B BRI AE /7, M X 1A caretakers BTN, B N\ ; blossom vi.(HE4) - 1E;
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BOR, MHE; pickup fiE, SRTF, RS, B HEBETEHEHRR.

82. AL GAE N Atk AR H ik . aA IS AS A T E N T NSO A R, I B ek . ATy
BiiZ, T, ARG LU 5eRMMR, 5838 T CHEANRERTT.
BTt 2 B 2 s ) FIE S R e Re 0, S B 2] professional adj. &k, Ek:f; perfectionist n.

5ekE N, delegate 3R, TEFEFEHEHER,

83. If you want to catch the last train, we'd better set off for the railway station at once.

AT T U 2 B 5 & 2 A N AJ I, % had better e 4.7
84. | have been away from home for one month and a half.

[ AT b = 55 A L 7E 56 B 25 has/ have done I FVZ: .

85. There's no doubt that he didn't mean to hurt you.

[fi BT bk A 3 2% Ay 22 0 5E i) “there is no doubt ... ” J mean % .

86. Those who are in their forties are required to have a physical examination this afternoon!

[T T et 1 25 e 1 AN AR 5
87. Being very angry, he couldn't all asleep.

[fEpT b A 3 B2 Ay R 155 A fall asleep HIFHVZ.

Part VI Writing (20 points)

Advantages and Disadvantages of Cell Phones

As is vividly depicted in the picture, three young children are happily playing their phone: while their parent
looks angry and says “just live with your own phones forever "Simple as it is, the drawing docs reflect a social
phenomenon: phones are now playing an important role in our daily life. But, like anything else, they have both
favorable and unfavorable aspects.

Some people believe that phones have many advantages. To start with, phones have brought us many
conveniences. What's more, we can surf on the Internet whenever we like without opening a computer. In the end,
it can also help us with some learning, because we can look up the word in the digital dictionary.

However, just as everything has two sides, phones also have many disadvantages. Firstly phones may be bad
for our health. Secondly, it affect our work and study. Last but not least, phones have a negative influence on our
family, which may make our parents feel lonely and neglected,

To conclude, 1 am fully convinced that a rosy future is awaiting us if we use our phones properly. And |

believe its advantages will not only offset its disadvantages, but also far outweigh them.

M % &

N2




